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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                            Subject – Science  Time – 3 Hours                                                                 Maximum Marks - 80 

   

Attempt all questions. However there are internal choices. Rough work to be done in  
the right margin. 

 

PHYSICS 
Choose the most appropriate answer.         [2 x 1= 2] 
1. A boy rolls a rubber ball on a wooden surface. The ball travels a short distance before coming to 

rest. To make the same, ball travel longer distance before coming to rest, he may 
(a) spread a carpet on the wooden surface 
(b) cover the ball with a piece of cloth 
(c) sprinkle talcum powder on the wooden surface 
(d) sprinkle sand on the wooden surface                                                              [1] 

2. Which of the following can be charged by rubbing/friction? 
  (a) plastic 
  (b) amber 
  (c) ebonite 
  (d) All of these                                                                                                         [1] 

Very short answer questions.          [2x 1 = 2] 
3. What kind of lens is there in our eyes? Where does it form the image of an object?     [1] 
4. The planet Venus is hotter than mercury, though it is farther away from Sun. Why?    [1] 
Short answer type questions          [3 x 2 = 6] 
5. What are fault zones? Name the fault zones in India.                                              [2] 
6. What are the two factors affecting the force of friction? Name any two types of friction.  [2] 
7. Which properties of chromium make it useful for electroplating on iron? Why cannot we make 

the whole article with chromium?                                                                                  [2] 
Long answer questions           [4x 3 = 12] 
8. (a) Give the differences between galaxy and constellation. 
    (b) Draw the sketch to show the relative positions of prominent stars inUrsa Major  constellation                                                                                                                     [3] 
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9. (a)We cannot hear the sound of the exploding meteors in the sky, though we can see them. Why? 
    (b) A pendulum oscillates 25 times in 5 seconds. Find its time period and frequency.   [3] 
10. (a) Why is it comfortable to lift a school bag with broad straps than thin straps? 
      (b) Why atmospheric pressure is maximum at sea level?                                           [3] 
11. (a) State the laws of reflection 
      (b) Calculate the number of images formed between two plane mirrors inclined at an angle of 

90 degrees.                [3] 
Very long answer questions.          [1x 5 = 5] 
 12. (a) Describe with the help of a diagram, how an electroscope is used to find the presence of 

charge on an object. 
       (b) Define the terms (1) focus (2) epicentre of an earthquake. 
                               OR 

(a) Sketch the formation of image for a point object by a plane mirror. 
(b) Label and write the function of the parts of the eye shown in the diagram below 

 
 
 
                                                                  
 
 

 
 

CHEMISTRY 
SECTION A (5×1=5) 

1. Which among the following is the most reactive metal? 
(a) Calcium    (b) Copper    (c) Iron     (d) Magnesium  

2. Polycot is   obtained by mixing  
(a) Nylon and wool   (b) Polyester and wool (c) Nylon and cotton   (d) Polyester and cotton  

3. Name the gas produced when coal burns in 
(a) Sufficient oxygen  
(b) Insufficient oxygen  

4. Name the two chemicals present in the head of a safety match.  
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5. In an experiment 4.5 kg of a fuel was completely burnt. The heat produced was measured to be 
180,000 KJ. Calculate the calorific value of the fuel. 

SECTION B (4×2=8) 
6. (a) Mention two differences between  thermoplastics and thermosetting plastic.  

(b) Rohit took with him some nylon ropes, when he was going for rock climbing.  Can you give 
two reasons why he selected  nylon ropes instead  of ropes made of cotton or jute? 

7. (a) Naresh has a Maruti van for picking students  which runs on petrol. His daughter asked him 
to get a CNG kit fitted in it. Do you agree with his daughter's suggestion? Why? 

(b) Define exhaustible resources . 
8. Manu was heating oil to fry potato chips.  The cooking oil all of a sudden caught fire. He poured 

water to extinguish the fire. Do you think this action was suitable? Explain your answer.  
9. (a) Which air pollutant combines with the haemoglobin of your blood and name the compound  

formed. 
(b) At any individual level how can you help reduce air pollution? Explain any two points 

SECTION C (3×3=9) 
10. (a) Paheli bought  a statue made of copper. To her surprise  it acquired  a dull green coating  

after a couple of months. Write the chemical  equation for the above reaction. 
(b) Dinesh  is the president of the society. During rainy season, he adds tablets in the water 

tank of the society  so that the residents  do not fall ill due to waterborne  diseases  . Name 
the non metal which is used  in the form of tablets to disinfect water.  

(c) Name one soft metal which can be cut with a knife.  
11. (a) With the help of an activity show that the innermost zone of the candle flame contains 

unburnt wax vapours. 
(b) Explain  two reasons  which make  LPG  a better fuel than wood. 
(c) State the difference between the outermost zone and middle zone of a candle flame on the   
 basis of the following  

i) Colour         ii) Combustion  
12. (a) Mention two human activities  which lead to an increase in the amount of carbon dioxide in 

the air. 
(b) Name the chemical  which damages the Ozone layer when released in  air. 

SECTION D (1×5=5) 
13. (a) Why does the increased level of nutrients in the water affect the survival of aquatic 

organisms? 
(b) Clear and transparent water is not always fit for drinking.  Do you agree with the statement? 

Explain your answer.  
(c) Name two diseases caused by drinking contaminated water. 



4  

          OR 
14. (a) Describe the threat to Taj Mahal due to air pollution.  

(b) What are the steps taken by Supreme Court to save Taj Mahal? 
(c) What is smog? 

BIOLOGY 
 

I. Choose the correct option:                                                          [1X2=2]  
1. Read the following statements carefully and choose the correct option.                  Statement I – The babies born through IVF technique are called test                                tube babies.        Statement II- In IVF technique, fertilization occurs inside the body.       (a) Both the statements I and II are true and statement II is the correct           explanation of statement I.      (b) Both the statements I and II are true but statement II is not the correct           explanation of statement I.     (c) Statement I is true but statement II is false.     (d) Both the statements I and II are false.  2. Read the statements given below.   (i) Seeds require moisture for germination .  (ii) Plants can absorb nutrients mostly in dissolved form.  (iii) Irrigation protects crops from pests and rodents.  Choose the combination of statements which indicate the need to irrigate crops.                                      (a) i and ii      (b) i, ii, iii     (c) i only      (d) i and iii 
II. Answer the following questions in one sentence:                              [1x2=2]  
3.  What is Red Data Book?  
4.  (a) Name the bacterium that converts milk into curd.      (b) Why is yeast used in the wine industry?        
III. Answer the following questions briefly:                                             
5. The sample of urine of a person is diagnosed to contain a high content of glucose. The doctor has advised to take insulin injections.                [1+1=2] (a) Identify the disease the person is suffering from and the gland which secretes the hormone ‘insulin’.                                                                                                    
    (b) What  is the role of adrenaline hormone that is secreted and released in the blood? 
6. (a) Why are protected forests also not completely safe for wild animals?  (Write one point)               [1+1=2]                                                                           (b) Write one difference between a zoo and a wildlife sanctuary.                                                                                                
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7. (a) Sowing the seeds at proper depth is an important aspect to be considered. Comment upon the statement. (Give one point)            [1+1=2]      (b) How can nitrogen be replenished in soil naturally? Explain briefly. 
8. (a) Explain briefly the consequence of deforestation on climate. (Write one point)      [1+1=2]     (b) Why are endemic species at a greater risk of extinction than other species?  
IV. Answer the following questions as directed:       
9. (a) What changes are observed in the uterus if fertilization  does not occur?   [1+1+1=3] (Write one point)     (b) Differentiate between menarche and menopause.    (c)  Tadpoles growing in iodine deficient waters fail to achieve their transformation into frogs. Give a scientific reason.                   10. (a)’Gene is a unit of inheritance in living organisms.’ Justify the statement giving a reason.                                                            (b) A cell requires water, minerals and other nutrients to survive. But the cell is covered by a cell membrane. How do these things reach inside the cell?  
      (c) Mention one point of difference between prokaryotic and eukaryotic cells.   [1+1+1=3]        11. (a) Give scientific reasons for the following:-                                        [1+1=2]     
      (i) Mosquitoes can be controlled by preventing stagnation of water though they do not live in water.                                                                                      (ii) Raw vegetables and fruits are kept in refrigerators whereas jams and pickles can be kept outside.       (b) Complete the table given below related to some common plant and human diseases by filling the blanks (i) and (ii).                     [1]                                (Do not copy the table. Write only the answers) 

            Disease       Causative agent Mode of transmission 
1) Typhoid             Bacteria      ______(i)_______ 
2) Citrus Canker     ______(ii)_______                 Air 

 V. Answer the following questions in detail:                                                                                                                                                    12. Given below is a diagram showing the structure of human sperm.       Study the same and answer the questions that follow.                      [1+1+1+2=5]   

                                 (a) Label the parts marked as (i) and (ii).  
     (b) Name the organ which produces sperms in humans. What is the number of chromosomes present in the nucleus of the sperm? 

(i) 
(ii) 
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     (c) Although two cells called gametes fuse, the product formed is a single cell called the zygote. Justify the statement giving one scientific reason.        (d) Draw a neat diagram showing the female reproductive organs in humans and label the following parts:-            (i) The organ which produces the female gametes           (ii) The part where fertilization occurs .         (iii) The part where embryo gets embedded                                                                  OR                                                                       [2+1+2=5]                                                                      (a) Compare the reproduction in hydra and amoeba. (Give two differences)     (b) Why do frogs and toads move to ponds/lakes during rainy season?     (c) Diagrammatically represent the reproduction in amoeba. (Give two labellings)  
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  

Class: VIII        Subject : English 
Time 3 Hours.                                                              Maximum Marks-: 80 
 

 
 General Instructions : 
1. The question paper is divided into Three sections, A, B & C. 
2. It is compulsory to attempt all the sections.  
3. Neatness carries marks. 
 

     SECTION – A (READING)    (20 Marks) 
 

I. Read the passage carefully :                             
 
1. This afternoon, Amrita Pritam passed away quietly in her sleep at the Hauz Khas 

residence in New Delhi. And as the news of her demise got out, Punjab rose to 
mourn her death. Amrita was 86-year old and for the last some years was 
bedridden. 

2. Dalip Kaur Tiwana, one of the leading names in Punjabi literature, could not 
control her tears and she talked about Amrita Pritam. “I was told about her death 
by Imroz this afternoon. I got the news over two hours ago and I have been 
grieving since. My pain is so strong that I cannot even talk. The void Amrita Pritam 
has left behind her can never be filled.” 

3. Amrita Pritam, who has over 78 books to her credit – novels, volumes of verses 
and miscellaneous prose among them – was born on August 31, 1919, in Punjab, 
which now falls in Pakistan. She began writing at a tender age of sixteen and was 
the first woman recipient of the prestigious Sahit Akademi award for the year 
1956. 

4. She also received the Padma Shree in 1969, Janapeeth in 1982 which was 
followed by Padma Vibhushan in 2004. She had the distinction of more of her 
works getting translated into European languages than any other Punjabi writer. 

5. She was conferred D. Litt by the Delhi University while Jabalpur University 
conferred her with the same honour in 1973. Amrita Pritam was also given the 
International Vaptsarove award by the Republic of Bulgaria (1979) while the 
Vishwa Bharti, Shantiniketan, awarded her D. Litt (1987). The French Government 
honoured her with a degree of officer dens/order des arts et des letters in 1987. 
Among her most admired words are Amrit Lehran, Jinnda Jian, Trel Dhote Phul O! 
Gitan Valian, Badlaan De Laali, Lok Piar, Patthar Giite, Punjabi Di Aawaaz, 
Sunehray, Ashoka Cheti, Kasturi, Nagmani, Ik si Anita, Chak Nambar Chatti, 
Jilavatan, Rasidi Ticket, Uninja Din and Kagaz Te Kanvas. 

6. Prof Gurdial Singh, an eminent name in the world of Punjabi literature and 
Janapeeth awardee, says : “Amrita Pritam along with Prof Mohan Singh are a yug 
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for Punjabi poetry. In present times, though I see many good female poets yet no 
one has been able to even come near the class of Amrita Pritam.” Dr Gulzar 
Singh Sandhu, a well known Punjabi short story writer, feels : “In my younger 
days as I lived in Delhi I shared many moments with this great poetess. She is the 
one who arranged my marriage. Her death is like an end of an era”.  

– The Indian Express 
 
Answer the given questions briefly.         [1x10=10] 
 (1) Where was Amrita Pritam staying when she died ? 
(2) At what age did Amrita Pritam pass away ? 
(3) Who uttered these words on Amrita Pritam’s death : “The void Amrita Pritam has 

left behind can never be filled” ? 
(4) When was Amrita Pritam born ? 
(5) Which award won by the first woman is credited to Amrita Pritam ? 
(6) Find out two eminent names of the Punjabi literature from the passage. 
(7) Who awarded her first D. Litt. ? 
(8) With whom is she equated in literature ? 
(9) The word demise means :- 
 (a) Funeral (b) disease (c) death (d) birth 
(10) The name of the International award given to Amrita Pritam in 1979 was :- 
 (a) Republic of Bulgaria  (b) Degree of Office  
 (c) D. Litt   (d) Vaptsarove 
 

II. Read the poem carefully and answer the questions that follow :               
 
FRIENDS AND FLATTERERS 

 
Every one that flatters thee 
Is no friend in misery 
Words are easy, like the wind; 
Faithful friends are hard to find. 
 
Everyman will be thy friend 
Whilst thou hast wherewith to spend; 
But if store of crowns be scant 
No man shall supply thy want. 
 
If that one be prodigal 
Bountiful they will him call: 
And with such life flattering, 
‘Pity but he were a king’. 
 
But if fortune once do frown 
Then farewell his great renown: 
They that fawn’d on him before 
Use his company no more. 
 
He that is thy friend indeed, 
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He will help thee in thy need; 
If thou sorrow, he will weep; 
If thou wake, he cannot sleep: 
Thus of every grief in heart 
He with thee doth bear a part, 
These are certain signs to know 
Faithful friend from flattering foe. 

 
Tick the most appropriate option.             [1x4=4] 
 (1) Words are compared to the wind 
 (a) because they are blowing. (b) to make a metaphor.  
 (c) because like the wind they are lost soon. (d) so that we get confused. 
(2) You will have many friends when you are 
 (a) popular (b) old (c) young (d) rich 
(3) When you have ________________ you will have few friends. 
 (a) lost your beauty  (b) lost your money  
 (c) lost your job   (d) lost your best friend 
(4) We can say that a true friend is a friend 
 (a) in need.   (b) who gives you money.  
 (c) who shares your sorrows. (d) you can talk to. 
 
Answer these questions. 
 (5) What would flatterers say if you are wasteful ?     [1] 
(6) Identify the figure of speech in the last line of the poem – ‘Faithful friend from 

flattering foe’.           [1] 
(7) Why is it necessary for you to know the signs of a friend ?    [1] 
(8) “If thou wake, he cannot sleep” – who is ‘he’ here ?     [1] 
(9) What method would you use to identify a true friend ?     [2] 
 
     SECTION – B (WRITING & GRAMMAR)   (35 Marks) 
 

III. Yesterday you went with your family to dine at a famous restaurant of your city. 
You were busy having your meal, when all of a sudden you saw M.S. Dhoni sitting 
next to your table. You couldn’t control your emotions. Write a diary entry in 100 – 
120 words expressing your feelings.          [5] 
 OR 

 Write a letter to the Mayor of your city in minimum 120 words on the problems 
related to cleanliness and hygiene of the city. Also suggest a few effective 
remedies to make the city cleaner and more hygienic for the residents of every 
nook and corner of the town.  

 
IV. Develop a story on the basis of the beginning given below in minimum 120 words. 

Provide a heading and conclude with a thought provoking idea.                [5] 
 “Once a lion, the king of the forest, posed a great threat to all other beasts and 
animals. He killed many animals whenever he was hungry. ________________ .” 
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V. Change the following into Passive Voice.                    [1x2=2] 
 (1) We have invited all the relatives. 

(2) The police could not find the stolen jewels. 
 

VI. Replace the underlined words with suitable phrases.         [1x2=2] 
 (1) A marble statue was erected by the family. 

(2) You should learn to speak English fluently. 
 

VII. Following sentences are given in Direct Speech; change these sentences 
into Indirect Speech.                                 [1x2=2] 

 (1) “Water boils when the temperature rises to 100 degree Celsius”, the teacher 
said. 

(2) I said to the boys, “Please listen the instructions carefully”.  
 

VIII. Identify the subordinate clauses in the given sentences and state its kind. [1x2=2] 
 (1) She wore a necklace which was studded with diamonds.  

(2) I must leave early because my father is waiting for me. 
 

IX. State whether the sentences given below are Compound, Complex or 
Simple.                [1x2=2] 

 (1) Diya doesn’t know where Piyali has gone. 
(2) It is dark outside and my brother has gone to the market. 
 

X. Do as directed :          [1x12=12] 
 (1) The animals at the zoo were disturbed by the loud noise.  ( Identify Predicate ) 

(2) A generous prince of Kingston is loved by everyone.  ( Identify Subject ) 
(3) I left my luggage ____________ ( on / at ) the station.  ( Choose the correct 

Preposition ) 
(4) Ravi had visited Delhi last year with me.  ( Identify the Direct Object ) 
(5) Kiran came to my house yesterday.  ( Identify the Tense ) 
(6) Arudhanti writes books on environment.  ( Change the sentence into Simple 

Past) 
(7) My mother waters plants everyday.  ( Find out object ) 
(8) He forgets eating his lunch.  ( Re-write the sentence using to + infinitive ) 
(9) He walked continuously for two hours. ( Identify whether the underlined word 

is Preposition or Conjunction ) 
(10) Swimming is my favourite sport.  ( State whether the underlined word is 

Gerund or Participle ) 
(11) This sum is very difficult. I can not solve it.  ( Join the sentences to make one 

simple sentence ) 
(12) I wish to go to America. My visa has not come.  ( Make compound sentence ) 
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 XI. There is one error in each line of this passage. Pick up the error and write in 
column A and write the correct word in the space of column B.       [1x3=3] 

    Column A Column B 
Floods is a common natural disaster. (1) ________     ________ 
Scientists has often tried to predict floods. (2) ________     ________ 
There is a number of reasons that cause floods. (3) ________     ________ 
 

     SECTION – C (LITERATURE)          (25 Marks) 
 

XII. Answer the given questions with reference to the context.        [1x8=8] 
 A) “She was an interesting girl ….. can you tell me – did she keep her hair 

long or short ?” 
 (1) Who did the speaker ask this question to ? 

(2) Why did the speaker ask this question ? 
(3) What happened immediately after this ? 
(4) Do you think that it is the most important part of the story ? Explain why ? 

 
 B) “He plants the glory of the plain 
 He plants the forest’s heritage” 

 (1) What two thinks does a tree planter actually plant ? 
(2) How does planting a tree brings us physical comfort ? 
(3) Why does the speaker call the tree a link between us and our children ? 
(4) What does heritage refer in the given lines ? 

 
XIII. Answer any five questions in 30 to 40 words :        [2x5=10] 

 (1) What was special about kite flying in Afghanistan ? 
(2) How did the soldiers respond to the orders given by their commander in the 

poem “The charge of the Light Brigade” ? 
(3) How would the captain spend his time after the stroke ? 
(4) Why is the speaker scared in the poem Gravity ? 
(5) Explain “the treble of heaven’s harmony”. 
(6) What instructions did the girl’s parents give her and why ? 

 
XIV. Answer any one question in 80 to 100 words :                  [5] 

 (1) It often happens that people with good eyesight fail to see what is right in 
front of them. Do you agree with the above statement ? Give reasons for 
your answer. 

(2) If there were no gravity on Earth, what would have happened ? 
 

XV. Vocabulary :                         [1x2=2] 
 (1) Write the synonym of Feasibility. 

(2) Students preparing for competitive exams must ____________ of the current 
affairs. 
(a) think on your feet 
(b) get the show on the road 
(c) keep fingers on the pulse 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                            Subject – Mathematics  Time – 3 Hours                                                                 Maximum Marks- 80 

              

General Instructions: 
1. This question paper has 5 Section A-E. 
2. Section A has 20 MCQs carrying 1 mark each. 
3. Section B has 5 questions carrying 2 marks each. 
4. Section C has 6 questions carrying 3 marks each. 
5. Section D has 4 questions carrying 5 marks each. 
6. Section E has 3 case based integrated units of assessment (04 marks each) with subparts of the values 1,1 
and 2 marks each respectively. 
7. All questions are compulsory. However, an internal choice in 2 questions of 5marks,2 questions of 3 
marks and 2 questions of 2 marks has been provided. An internal choice has been provided in the 2marks 
questions of Section E. 
8. Draw neat figures wherever required .Take Π = ଶଶ

଻  wherever required if not stated. 
 

      SECTION –A  
1.The numbers ……………….and …………………… are their own reciprocal. 
     a)1,– 1                            b)1,0  
     c) – 1, 0                          d) none of these 
 
2. What is the value of ݐ ݊݅ ݔℎ݁  ݁݊݋݅ݐܽݑݍ ଶ

ହ௫  − ହ
ଷ௫ = ଵ

ଵହ 
    a) −19                     b) 5 
    c) 20                        d) 6 
 

3. Find ‘a’ if   ௔ି଼
ଷ = ௔ିଷ

ଶ    
    a) −7                       b) −9 
    c) 15                                 d) 11 
4. Two adjacent angles of a parallelogram are equal, the measure of each angle is  
   a) 90°                 b)180° 
   c) 120°               d) None of these 
5. Sum of the exterior angle of a regular pentagon is 
    a) 540°                          b) 360° 
    c)  180°                         d) None of these 
6. The probability that it will rain tomorrow is 0.75. What is the probability that it will not rain tomorrow  
    a) 0.35                                   b) 0.25 
    c) 0.95          d) None of these 
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7. What is the size of the class interval  300- 325? 
     a) 50                b) 60               c) 25                d)70 
8. What is the value of 5௧௛  triangular number ? 
    a) 10         b) 6          c) 15          d) None of these 
9. One member of the Pythagorean triplet is 6, what are the other two members? 
    a) [8, 10]               b) [5,3]                c) [7,8]              d) None of these 
10. What is the value of cube root of 1.331? 
     a) 1.11          b) 1.1         c) 1.01           d) None of these 
11. Among all of these which one is Hardy  Ramanujan  number ? 
     a) 4104        b) 5164       c) 2315           d) None of these 
12. A person sells an article for Rs 550 gaining  ଵ

ଵ଴ of its CP .What is the gain percent ? 
     a) 20%       b) 10 %        c) 5%        d) None of these 
13. How many faces of a polyhedron having 12 edges and 8 vertices? 
      a) 9          b) 6              c) 15               d) 20 
14. A symbol having fixed numerical value is called a  
     a) Variable       b) Constant      c) Coefficient      d) None of these 
15.   1 K ݈  =……..݉ଷ 
   a)  1000            b) 100       c) 10        d) 1 
16. How many 3 metre cubes can be cut from a cuboid  measuring  
      18m × 12݉ × 9݉ ? 
       a) 36             b) 72              c) 18             d) None of these 
17. What is the value of   ଼షభ × ହయ

ଶషర  ? 
       a) 125      b) 200          c) 250       d) None of these 
18.  Sohan type 360 words during half an hour. How many words would he type in  
       6 mins ?                
      a) 72              b) 108            c) 54            d) None of these 
19. Two factors of the expression ܽଶ + 3ܽ −  ݁ݎܽ 88
      a) (a−11)(a−8)                                                        b) (a+11)(ܽ − 8) 
      c) (a+9)(a+2)                                                     d) None of these 
20. What is the remainder when 379843 is divided by 3 
     a) 1        b) 2         c) 3          d) none of these 
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SECTION –B 

21.What should be added to ିହ
଼ ହ ݐ݁݃ ݋ݐ ݏܽ ݋ݏ 

ଽ  ?     
                              OR 
       By what number should we multiply ଶ

ିଵସ , so that the product may be ହ
ଵଶ ? 

22. Find the smallest whole number by which 7688 must be multiplied so as to get a perfect square number . 
23. If the cost price of 18 mangoes is the same as the selling price of 16 mangoes, find the gain percent . 
                                                 OR 

   After allowing a discount of 12% on the marked price of an article, It is sold for Rs880.Find its marked 
price. 

24. Draw diagram of a Tetrahedron .Write the number of Faces, Vertices and Edges. 
25.  If x is a digit of the number  67y19 is divisible by 9, where y is a digit . 
       ܹℎܽݐ ݁ݎܽ ݐℎ݁ ݕ ݂݋ ݁ݑ݈ܽݒ ݈ܾ݁݅ݏݏ݋݌ ?   

SECTION -C 
26.  ABC is a right –angled triangle and ‘O’ is the mid point of the side opposite to the right angle. Explain 

why ‘O’ is equidistant from A, B and C. 
                                                   A 
 
                                      
                                                   B                                                                             C 
27. Construct a quadrilaterals ABCD where AB = 3.5cm ,BC = 6.5cm,  
ܣ∠          = 75°, ܤ∠ = ܥ∠ ݀݊ܽ 105° = 120°. 
28. What is the smallest number by which 8192 must be divided so that quotient  is a perfect cube? Also, 

find the cube root of the quotient so obtained  . 
        OR 

         Evaluate   ට଴.଴ଶ଻
଴.଴଴଼

య ÷ ට଴.଴ଽ
଴.଴ସ  − 1 
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29. (a) By what number should (7)ିଵ be multiplied so that the product may be equal  to  (−5)ିଵ ? 
      (b) Write 0.00000374 in standard form. 
30. There are 1200 soldiers in a fort that had enough food for 20 days. But some soldiers were transferred to 

another fort and the food lasted for 25 days. How many soldiers were transferred?  
             OR A school has 8 periods a day each of 45 minutes duration. How long would each period be, if the school 

has 9 periods a day, assuming the number of school hours to be the same? 
31. Plot each of the following points A(2,3),B(5,3),C(5,5)and D(2,5) on a graph sheet. Also find the area of 

the quadrilateral  ABCD formed.  
SECTION –D 

32. An altitude of triangle is five-thirds the length of its corresponding base. If the altitude were increased by 
4cm and the base be decreased by 2cm, the area of the triangle would remain the same. Find the base and 
the altitude of the triangle. 

OR 
There are 100 multiple choice question in a test , suppose you get 2 marks for every correct answer and 
for every question you leave unattempted or answer wrongly, one mark is deducted from your total score 
of correct answers. If you get 80 marks in the test then how many questions did you answer correctly? 

             33. Mohan invested Rs 50,000 at an interest rate of 10% per annum compounded half yearly. What amount 
would he get  
 i) After 6 months?    

      ii) After 1 year ? 
34. (a) If ܽଶ + ܾଶ + ܿଶ − ܾܽ − ܾܿ − ܿܽ = ܽ ݐℎܽݐ ݁ݒ݋ݎ݌ 0 = ܾ = ܿ 
       (b) If 4ݔଶ + ଶݕ = ݕݔ ݀݊ܽ 40 = ݔ2 ݂݋ ݁ݑ݈ܽݒ ℎ݁ݐ ݂݀݊݅ 6 +  ݕ
                                              OR 
     (a) Simplify   ହ଼మ ିସଶమ

ଵ଺  
      (b) If ݔଶ + ଶݕ = ݕݔ ݀݊ܽ 29 = ݔ ݂݋ ݁ݑ݈ܽݒ ℎ݁ݐ ݂݀݊݅ 2 −y . 
35.  Factorize 
     (a) (2ݔ + ଶ(ݕ3 − ݔ2)5 + (ݕ3 − 14 
     (b) ܽଶ − 8ܾܽ + 16ܾଶ − 25ܿଶ  
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SECTION-E 
36. Reshma has bought a new plot .She wishes to construct a house in that area. She draws required 

proportions of the following items such as Concrete, Bricks, Timber , Labour cost etc in a pie chart 
representing their specific angles. From the given pie chart help her to find the expenditure. 

              
i)  What percentage of total expenditure is spent on labour ? 
ii)  What percentage of total expense is spent on bricks and steel ? 
iii)  If the total expenditure is estimated to be  Rs. 11,00,000 , then how much money was spent on 

timber? 
                                       OR 

If the total expenditure is estimated to be  Rs. 11,00,000 , then how much money was spent on 
Labour? 

37. In the city of Jabalpur , water is supplied by municipal corporation in the city is done through pipes . 
Iron pipes are of length 20 cm  each with exterior diameter as 25 cm. The thickness of each pipe is 1 cm 
.  From the above situation find the following for the renovation of the city. 
i)  Find the internal surface area of the pipe. 
ii) Find the external surface area of the pipe . 
iii) Find the total surface area of the pipe. 

                                      OR 
Find the volume of the water inside the pipe. 

38. Vinay is a manager in a bank . He looks after the deposits done by people.   He has the task to calculate 
the simple interests on the deposited money for year by different people . The table below shows the 
following –            [2+1+1] 
 
 
 
 

 
 
 
 

 
i) Draw a linear graph for the above data.  

OR 
i) Draw bar graph for the above data. 
ii)   From the above graph , find the interest on Rs. 1750  for a year . 
iii)  How much money should be deposited to get an interest of Rs. 90 ?  

Deposit (in Rs. ) 500 1000 1500 2000 2500 3000 
Simple Interest(in Rs) 60 120 180 240 300 360 
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funsZ”k & ¼i½ ç”uksa dh dqy la[;k & 1 ls 6 gSA 
  ¼ii½ ç”u nks Hkkx esa gS & [k.M ^d^ rFkk [k.M ^[k^ 
  ¼iii½ lHkh ç”u vfuok;Z gSaA  

 ¼iv½ ;FkklaHko lHkh ç”uksa ds mRrj Øe”k% fy[ksA 
 

 
[k.M ^d^ 

 
ç”u ¼1½ fuEufyf[kr vifBr x|ka”k dks /;kuiwoZd i<+sa rFkk fn, x, ç”uksa ds mfpr mÙkj pqudj fy[ksa &  
 

¼d½ çsepan ifo= mn~ns”; dks ikus ds fy, lk/kuksa dh ifo=rk esa fo”okl djrs FksA budh jpukvksa ds 
çeq[k ik= blh vkn”kZ dks ekuus okys gksrs FksA mUgksaus xzkeh.k thou dks cM+s fudV ls ns[kk FkkA blh dkj.k 
mudh jpukvksa esa xzkE; thou lkdkj gks mBkA çsepan us viuh jpukvksa esa fuEu oxZ vkSj e/;e oxZ dk 
fp=.k vf/kd fd;k gSA ^xksnku^ miU;kl i<+us ls ,slk çrhr gksrk gS] tSls ;s ?kVuk,¡ gekjs vkl&ikl gh 
?kfVr gks jgh gSaA 
 çsepan ds lkfgR; esa lkekftd leL;kvksa dk lqanj fp=.k feyrk gSA bUgksaus viuh jpukvksa esa 
euksjatu ds vfrfjDr ns”k] lekt vkSj ifjokj dh Toyar leL;kvksa dks gekjs lkeus j[kk gSA muds 
miU;klksa dk dsanz lkekftd thou gh gSA       ¼1x5¾5½ 
 
¼i½ çsepan us viuh jpukvksa esa fdl oxZ dk fp=.k vf/kd fd;k gS\ 
¼d½ e/;e oxZ dk ¼[k½ mPp oxZ dk  ¼x½ fuEu vkSj e/;e oxZ dk  ¼?k½ f”kf{kr oxZ dk 
 
¼ii½ çsepan ds miU;klksa dk dsanz D;k gS\ 
¼d½ jktuhfrd thou ¼[k½ ikfjokfjd thou ¼x½ lkekftd thou  ¼?k½ fons”kh thou 
 
¼iii½ çsepan n~okjk jfpr miU;kl fuEufyf[kr esa ls dkSu lk gS\ 
¼d½ xksjk  ¼[k½ xksnku  ¼x½ eSyk vk¡py   ¼?k½ rel 
 
¼iv½ çsepan us fdl çdkj ds thou dks fudV ls ns[kk Fkk\ 
¼d½ “kgjh thou dks ¼[k½ xzkE; thou dks ¼x½ fons”kh thou dks  ¼?k½ jktuhfrd thou dks 
 
¼v½ çsepan lk/kuksa dh ifo=rk esa D;ksa fo”okl djrs Fks\ 
¼d½ f”k{kk çkIr djus ds fy,   ¼[k½ ifo= mn~ns”; dks ikus ds fy, 
¼x½ xjhch dh leL;k nwj djus ds fy,  ¼?k½ jkstxkj ikus ds fy, 
 
¼[k½ lalkj dk gj /keZ n;k vkSj d:.kk dks loksZPp egÙo nsrk gSA cqn~/k us lewph turk dks d:.kk dk 
lans”k fn;kA tSu /keZ n;k dks ^vfgalk^ ds uke ls iqdkjrk gS rks bZlkbZ /keZ & ^{kek vkSj lsok^ ds uke lsA 
çd̀fr gesa ijksidkj dh f”k{kk nsrh gSA lw;Z gesa çdk”k nsrk gS] panzek viuh pk¡nuh fNVdkdj “khryrk 
çnku djrk gSA Hkkjr viuh ijksidkjh ijaijk ds fy, txr çfln~/k jgk gSA ijksidkj djus ls vkRek dks 



2  

lPps vkuan dh çkfIr gksrh gSA nwljs ds dY;k.k ls vkRek foLrr̀ gks tkrh gSA vr% thou dks lekt fgr esa 
yxkus ds fy, gesa ^n;k^ dk ifo= Hkko eu esa txkuk pkfg,A      ¼1x5¾5½ 
 
¼i½ lalkj ds çR;sd /keksZa us fdls egÙo fn;k gS\ 
¼d½ n;k vkSj d:.kk dks ¼[k½ lEiUurk dks  ¼x½ Lokoyacu dks  ¼?k½ vkReKku dks 
 
¼ii½ tSu /keZ n;k dks fdl uke ls iqdkjrk gS\ 
¼d½ vfgalk  ¼[k½ fgalk  ¼x½ ijksidkj  ¼?k½ fe=rk 
 
¼iii½ lw;Z gesa çdk”k nsrk gS & ;g mlds fdl Hkko dks n”kkZrk gS\ 
¼d½ ijksidkj  ¼[k½ viukiu  ¼x½ lfg’.kqrk  ¼?k½ fgalk 
 
¼iv½ ijksidkj djus ls fuEufyf[kr esa ls dkSu lk ykHk ugha feyrk gS\ 
¼d½ lPps vkuan dh     ¼[k½ vkRek foLrr̀ gks tkrh gS   
¼x½ vykSfdd vkuan dh çkfIr gksrh gSA   ¼?k½ vkRek v”kkar gks tkrh gSA 
 
¼v½ thou dks lekt fgr esa yxkus ds fy, gesa dkSu lk Hkko eu esa txkuk pkfg,\ 
¼d½ vgadkj  ¼[k½ bZ’;kZ  ¼x½ fgalk  ¼?k½ n;k 
 

ç”u ¼2½ O;ogkfjd O;kdj.k ij vk/kkfjr fuEufyf[kr ç”uksa ds mfpr mÙkj pqusa %&    ¼1x20¾20½ 
 

¼i½ vius Hkkoksa vkSj fopkjksa dh vfHkO;fDr ds fy, D;k vko”;d gS\      
¼d½ Hkk’kk  ¼[k½ f”k{kk   ¼x½ O;kdj.k   ¼?k½ iqLrd 
 
¼ii½ fuEufyf[kr esa ls gok fdlds mPpkj.k esa dsoy ukd lsfudyrh gS\ 
¼d½ vuqLokj ds  ¼[k½ vuqukfld ds  ¼x½ uqDrk ds   ¼?k½ Loj ds 
 
¼iii½ fuEufyf[kr “kCnksa esa dkSu & lk “kCn ^vkdk”k^ dk Ik;kZ;okph “kCn ugha gS\ 
¼d½ vacj  ¼[k½ O;kse   ¼x½ olu   ¼?k½ xxu 
 
¼iv½ ^vfuok;Z^ dk foykse “kCn pqusa %& 
¼d½ vuko”;d  ¼[k½ vko”;d   ¼x½ ,sfPNd   ¼?k½ bPNqd 
 
¼v½ fuEufyf[kr vusd “kCnksa ds fy, ,d “kCn crk,¡ &  

tks vkRek ls lacaf/kr gks 
¼d½ vkRefuHkZj  ¼[k½ vfHk;qDr   ¼x½ vkfRed   ¼?k½ vkRefo”oklh 
 
¼vi½ gesa &&&&&& le; ij fo|ky; tkuk pkfg,A 
    fuEufyf[kr le:ih fHkUukFkZd “kCnksa esa ls mfpr “kCn pqudj fjDr LFkku Hkjsa %& 
¼d½ fu;r  ¼[k½ uh;r   ¼x½ fu;kZr   ¼?k½ fu;fr 
 
¼vii½ fuEufyf[kr “kCnksa esa ls og “kCn pqusa ftlesa milxZ ,oa çR;; nksuksa ç;qDr gksa & 
¼d½ viekfur  ¼[k½ vko”;drk   ¼x½ fy[kkbZ   ¼?k½ vfHk”kki 
 
¼viii½ fuEufyf[kr okD; esa deZ ds vk/kkj ij fØ;k ds Hksn crk,¡ &  

xk; gjh&gjh ?kkl [kk jgh gSA 
¼d½ ldeZd  ¼[k½ vdeZd   ¼x½ f}deZd   ¼?k½ çsj.kkFkZd 
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¼ix½ vdeZd fØ;k esa fØ;k dk Qy fdl ij iM+rk gS\ 
¼d½ deZ ij  ¼[k½ drkZ ij   ¼x½ fØ;k ij   ¼?k½ okD; ij 
 

 

¼x½ cPps xsan ls [ksy jgs gSaA 
   mi;qZDr okD; esa dkSu & lk “kCn deZ gS\ 
¼d½ xsan   ¼[k½ cPps   ¼x½ [ksy   ¼?k½ dksbZ ugha 
 
¼xi½ gjh “kkd&lCth vf/kd [kkuk pkfg,A 
    js[kkafdr “kCn fØ;k fo”ks’k.k ds dkSu ls Hksn ds varxZr vkrk gS\ 
¼d½ LFkkuokpd  ¼[k½ ifjek.kokpd  ¼x½ jhfrokpd   ¼?k½ dkyokpd 
 
¼xii½ fØ;k fo”ks’k.k “kCn fdldh fo”ks’krk crkrs gSa\ 
¼d½ okD; dh  ¼[k½ laKk “kCn dh  ¼x½ fØ;k dh   ¼?k½ fo”ks’k.k dh 
 
¼xiii½ fn, x, fojke fpg~u dk uke crk,¡ & 

 Þ  ß     
¼d½ fooj.k fpg~u ¼[k½ mn~/kj.k fpg~u  ¼x½ foLej.k fpg~u  ¼?k½ galin fpg~u 
 
¼xiv½ dksey lh cPph MkWDVj cuuk pkgrh gS 
     mi;qZDr okD; esa dkSu&dkSu ls fojke fpg~uksa dk ç;ksx gksxk\ 
¼d½ ¼ ½ !  ¼[k½ ] A    ¼x½  & A   ¼?k½ & \ 
 
¼xv½ fuEufyf[kr eqgkojs ds vFkZ fy[ksa & 

 ,d vk¡[k ls ns[kuk 
¼d½ cny tkuk     ¼[k½ lcdks leku :Ik ls ns[kuk   
¼x½ cgqr Øksf/kr gksuk     ¼?k½ Mjdj Hkkxuk 
 
¼xvi½ fuEufyf[kr vFkZ ds fy, mfpr eqgkojs crk,¡ & 
 fojks/k djuk ------ 
¼d½ Nkrh lk¡Ik yksVuk  ¼[k½ xnZu mBkuk  ¼x½ m¡xyh mBkuk  ¼?k½ dye rksM+uk 
 
¼xvii½ ijh{kk esa vPNs vad çkIr djus ds fy, eksuw us &&&&&&&&A 
 mfpr eqgkojs pqu dj okD; iwjk djsa & 
¼d½ [kwu ilhuk ,d dj fn;k   ¼[k½ xhnM+ HkHkdh fn;k  
¼x½ ?kqVus Vsd fn;k     ¼?k½ xnZu mBk fn;k 
 
¼xviii½ fuEufyf[kr esa ls dkSu&lk tksM+k L=hfyax “kCn ugha gS\ 
¼d½ eksrh]uhe  ¼[k½ xaxk]gFksyh   ¼x½ jksVh][khj   ¼?k½ eNyh]ykseM+h 
 
¼xix½ ^cqn~f/keku^ “kCn dk L=hfyax “kCn fy[ksa & 
¼d½ cqn~f/kerh  ¼[k½ cqn~f/kekuh   ¼x½ cqn~f/korh   ¼?k½ cqn~f/kghu 
 
¼xx½ fuEufyf[kr ,dkFkZd “kCnksa esa ls mfpr “kCn pqudj fjDr LFkku Hkjsa &  
 egkRek xk¡/kh ds çfr yksxksa esa vikj &&& gSA 
¼d½ d`ik  ¼[k½ n;k  ¼x½ HkfDr   ¼?k½ Jn~/kk 
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ç”u ¼3½ fuEufyf[kr vifBr x|ka”k dks i<+sa rFkk fn, x, ç”uksa ds mÙkj fy[ksa &  
 
¼d½ vc lc yksx uy ij VwV iM+sA ;gk¡ Hkh og ?keklku eph fd D;k etky tks ,d cw¡n ikuh Hkh  
fdlh ds cÙkZu esa vk ldsA Bwle&Bkl! fdlh ckyVh ij irhyk vkSj irhys ij yksVk vkSj Hkxksus vkSj MksaxsA 
igys rks /kDds pysA fQj dqgfu;ksa vkSj mlds ckn cjruA QkSju cM+s Hkkb;ksa] cguksa] ekeqvksa vkSj nenkj 
ekSfl;ksa] QwfQ;ksa dh dqed Hksth xbZ] QkSt eSnku esa gfFk;kj Qsaddj ihB fn[kk xbZA 
 bl /khaxkeq”rh esa dqN cPps dhpM+ esa yFkiFk gks x,] ftUgsa ugykdj] diM+s cnyokus ds fy, ukSdjksa 
dh orZeku la[;k dkQh ugha FkhA ikl ds caxyksa ls ukSdj vk, vkSj pkj vkuk çfr cPpk ds fglkc ls 
ugyok, x,A           ¼1x5¾5½ 
 
¼i½ cPpksa dks ugyokus esa çfr cPpk fdruk [kpZ vk;k\    
¼d½ 75 iSls  ¼[k½ 20 iSls   ¼x½ 50 iSls   ¼?k½ 25 iSls 
 
¼ii½ /khaxk eq”rh esa cPpksa dk D;k gky gqvk\ 
¼d½ os dhpM+ ls xans gks x,    ¼[k½ os ikuh ls Hkhax x;s    
¼x½ mUgsa pksV yx xbZ      ¼?k½ os fxj iM+s 
 
¼iii½ cPpksa dks ugykus ds fy, ukSdj dks D;ksa cqykuk iM+k\ 
¼d½ cPpksa ds fglkc ls ukSdjksa dh la[;k de Fkh   ¼[k½ ukSdj Hkkx x;s FksA   
¼x½ ?kj ds lnL; dke ugha djuk pkgrs FksA     ¼?k½ cPps cgqr “kjkjrh FksA 
 
¼iv½ ukSdjksa dks dgk¡ ls cqyk;k x;k\ 
¼d½ nwj ds eksgYys ls     ¼[k½ ikl ds caxyksa ls   
¼x½ ekSlh ds ?kj ls      ¼?k½ ikl dh >ksiM+h ls 
 
¼v½ çLrqr x|ka”k ds ys[kd dkSu gSa\ 
¼d½ gfj”kadj ijlkbZ ¼[k½ bLer pqxrkbZ  ¼x½ gtkjh çlkn f}osnh  ¼?k½ çnhi frokjh 
 
¼[k½ nqigj fnol tkfu ?kj lwuksa <¡wf<+&<¡<ksfj vkigh vk;kSA 
 [kksfy fdokfj] iSfB eafnj eSa] nw/k&ngh lc l[kkfu [kok;kSA 
 vks[ky pf<+] lhads dkS yhUgksa] vuHkkor HkqbZa eSa <jdk;kSA 
 fnu çfr gkfu gksfr xksjl dh] ;g <ksVk dkSuSa <¡x yk;kSA    ¼1x5¾5½ 
 
¼i½ d̀’.k vius fe=ksa dks D;k f[kykrs Fks\  
¼d½ eykbZ]tysch ¼[k½ ek[ku]yÏw   ¼x½ nw/k]eykbZ   ¼?k½ nw/k]ngh 
 
¼ii½ Nhads rd igq¡pus ds fy, d̀’.k fdldk lgkjk ysrs Fks\ 
¼d½ lh<+h dk  ¼[k½ jLlh dk  ¼x½ cksjk dk  ¼?k½ vks[ky dk 
 
¼iii½ Xokyuksa dks çfrfnu fdl pht dh gkfu gks jgh Fkh\ 
¼d½ nw/k ls cuh phtksa dh ¼[k½ feBkb;ksa dh ¼x½ idoku dh  ¼?k½ vukt dh 
 
¼iv½ d̀’.k xOkkyuksa ds ?kj fnu esa fdl le; tkrs Fks\  
¼d½ çkr% dky   ¼[k½ nksigj ds le;   
¼x½ “kke ds le;  ¼?k½ vk/kh jkr dks  
 
¼v½ mi;ZqDr iafDr;ksa ds dfo dk uke crk,¡ %&  
¼d½ ujksÙkenkl  ¼[k½ lwjnkl   ¼x½ dchjnkl   ¼?k½ rqylhnkl 
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[k.M ^[k^ 
 
ç”u ¼4½ ¼i½ fuEufyf[kr ç”uksa ds vfr laf{kIr mÙkj fy[ksa &       ¼1x4¾4½ 
 

¼d½ dfo dks ,slk fo”okl D;ksa gS fd mldk var vHkh ugha gksxk\ 
¼[k½ dfo us i{kh vkSj ckny dks Hkxoku ds Mkfd, D;ksa crk;k gS\  
¼x½ i+= tSlk larks’k Qksu ;k ,l-,e-,l- ugha ns ldrkA blds dksbZ nks dkj.k crk,¡A 
¼?k½ *fpV~fB;ksa dh vuwBh nqfu;k* uked ikB lkfgR; dh dkSu lh fo/kk gS\ 
 
¼ii½ fuEufyf[kr ç”uksa ds laf{kIr mÙkj fy[ksa &       ¼2x5¾10½ 
 
¼d½ igyh ckj cl D;ksa :d xbZ Fkh\ dkj.k irk pyus ij Mªkboj us leL;k dk gy dSls fudkyk\ 
¼[k½ ^vkye vkjk^ fQYe dc vkSj igyh ckj dgk¡ çnf”kZr gqbZ Fkh\ 
¼x½ lqnkek ds os”k Hkw’kk dk o.kZu ^lqnkek pfjr^ uked ikB ds vk/kkj ij djsaA 
¼?k½ Hkko Li’V djsa & 
 tx esa cSjh dksbZ ugha] tks eu lhry gks;A 
 ;k vkik dks Mkfj ns] n;k djS lc dks;AA 
¼³½ lkbfdy dks efgykvksa us vktknh dk çrhd D;ksa ekuk\ 
  
 
¼iii½ fuEufyf[kr ç”uksa ds mÙkj fy[ksa &        ¼3x2¾6½ 
 
¼d½ cnyw dkSu Fkk\ e”khuh ;qx ls mlds thou esa D;k cnyko vk;k\ 
¼[k½ ^cl dh ;k=k^ uke ikB esa cl dks ys[kd us ò)k ds leku D;ksa crk;k gS\ yksxksa us ys[kd dks D;k  

lykg nh\  
 

ç”u ¼5½ ^e/kqdy”k^ ij vk/kkfjr fdUgha ik¡p ç”uksa ds mÙkj fy[ksa &     ¼2x5¾10½ 
 

¼d½ cgw ds vkus ls ydM+gkjs ds thou esa [kq”kgkyh vk xbZA dSls\ 
¼[k½ çsepan dks xk¡o esa gh jguk D;ksa ilan Fkk\ 
¼x½ ^le;^ ikB ls gesa D;k f”k{kk feyrh gS\ 
¼?k½ ys[kd dks fdl fo’k; ds fy, iqjLdkj feyk Fkk\ vesfjdk esa ys[kd us fgUnh ds çpkj çlkj ds fy,  

D;k dk;Z fd,\ 
¼³½ jktdqekj taxy esa D;ksa x;k Fkk\ laU;klh us mls D;k f”k{kk nh\ 
¼p½ efrynk us ikVhZ esa tkus ds fy, D;k&D;k rS;kjh dh\ 
¼N½ ^ikuh vkSj iqy^ uked ikB esa fdl leL;k dks n”kkZ;k x;k gS\ ljkbZ LVs”ku ij yksx ys[kd dh ekrk 

ls D;k vkxzg dj jgs Fks\ 
¼t½ fHk[kkjh us cPps ds iSjksa es csM+h D;ksa Mky nh Fkh\ 

 
ç”u ¼6½¼i½ fuEufyf[kr fo’k;ksa esa ls fdlh ,d fo’k; ij 100 ls 150 “kCnksa esa vuqPNsn fy[ksA    ¼5½ 
 
 ¼d½ O;k;ke dk egÙo 
  Lakdsr fcUnq  Hkwfedk 
      çdkj@rjhdk 
     egÙo 
     fu’d’kZ 
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¼[k½ “kgjhdj.k vkSj Ik;kZoj.k   

  Lakdsr fcUnq  Hkwfedk 
      çHkko@gkfu     
     fu’d’kZ 
  

¼x½ le; dk lnqi;ksx  
  Lakdsr fcUnq  Hkwfedk 
      egÙo 
     lnqi;ksx u djus ds nq’çHkko 
     fu’d’kZ 
 

¼ii½ NksVs HkkbZ dks eksckby dk ç;ksx de djus dh lykg nsrs gq, i= fy[ksaA     ¼5½ 
;k 

     oxZ d{k esa yxs LekVZ cksMZ ds mfpr j[k & j[kko gsrq çpk;Z dks i= fy[ksaA  
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General Instructions: 
i. All questions are compulsory  ii. There is no overall choice in the question paper. However, an internal choice has been provided in few questions. Only one of the choices in such questions have to be attempted. 

 

 
HISTORY 

I. Choose the correct option.            [1x7=7] 
1. Who was Warren Hastings ? 

A. First Viceroy of India 
B. Former Governor General of India 
C. Former Prime Minister of United Kingdom 
D. None of the above 

2. What was farman ? 
A. A trading ship 
B. An East India Factory 
C. A royal edict to trade duty free 
D. Name of faujdari adalat situated in Bengal 

3. _______ is a unit of measurement of land. 
A. Litre 
B. Bigha 
C. Kilogram  
D. millilitre 

4. ____________ was the last Mughal ruler. A. Aurangzeb 
B. Bahadur Shah Zafar 
C. Ahmad Shah Bahadur 
D. Mahmud Shah Bahadur 
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5. Match the following 

COLUMN A COLUMN B 
(i) Linguist (a) A person who can read, write and teach Persian 
(ii) Orientalists (b) A local language 
(iii) Munshi (c) A place of learning 
(iv) Vernacular (d) An order brought from England to India by Wood 
(v) Wood’s Despatch ( e) A person who knows and studies several languages. 
(vi) Pathshalas ( f) People who have scholarly knowledge of the language and 

culture of Asia. 
 
   OPTIONS 

A. (i)-e , (ii)-f, (iii)-a, (iv)-b, (v)-d, (vi)-c  
B. (i)-e , (ii)-f, (iii)-a, (iv) c , (v)-d, (vi)-b 
C. (ii)-d , (i)-f, (iii)-b, (iv) c, (v)-e, (vi)-a 
D. (iii)-c, (i)-f, (iii)-d, (iv) b, (v)-d, (vi)-a 

6. His support for women upliftment made him mark for the passing of  the Widow 
Remarriage Act 1856. Who is being referred to here ? 
A. Keshab Chandra Sen 
B. Bankim Chandra Chatterjee 
C. Ishwar Chandra Vidyasagar 
D. Dada Bhai Naoroji 

7. Bengal was divided by the British in the year 
A. 1900 
B. 1905 
C. 1910 
D. 1915 

II. Answer the following :                  [2x3=6] 
1. What were the areas of conflict between the Bengal Nawabs and the East India Company ? 
2. List any two changes introduced in the administrative set up of the British territories in India 

as a result of the rebellion of 1857. 
3. Write about any two remarks given by William Adam in his report on vernacular education 

in India. 
 

III. Answer  the following questions :             [3x2=6] 
1. Describe the main features of the Permanent Settlement. 
2. Why were people dissatisfied with the British rule in the 1870s and 1880s ? 

 
IV. Answer the following questions in detail.          [5] 

Why was Bengal divided? Explain it's consequences.      (2+3=5) 
                                       OR 

Who were the Moderates? How did they propose to struggle against British rule?    (2+3=5) 
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V. Read the paragraph given and answer the following questions :        [4] 
Girls begin going to school 
Many of the reformers felt that education for girls was necessary in order to improve the 
condition of women. 
Vidyasagar in Calcutta and many other reformers in Bombay set up schools for girls. When 
the first schools were opened in the mid-nineteenth century, many people were afraid of 
them. Therefore, throughout the nineteenth century, most educated women were taught at 
home by liberal fathers or husbands. Sometimes women taught themselves and secretly 
learned to read and write in the flickering light of candles at night. 
PanditaRamabai, a great scholar of Sanskrit, felt that Hinduism was oppressive towards 
women, and wrote a book about the miserable lives of upper caste Hindu women. She 
founded a widows’ home at Poona to provide shelter to widows and were given training so 
that they could support themselves.  
 
From the early twentieth century, they formed political pressure groups to push through 
laws for female suffrage and better health care and education for women. Some of them 
joined various kinds of nationalist and socialist movements from the 1920s. 
1.What was PanditaRamabai’s contribution towards the lives of widows?       [1] 
2.What do you understand by the term ‘female suffrage’ ?        [1] 
3.Why were the girls denied the opportunity to attend school in mid nineteenth century?   [2] 

CIVICS 
I. Choose the correct option :                [1x5=5] 
1. What does it mean to say that a state is “sovereign”? 

A. Sovereignty is a ruse of global capitalism. 
B. The state is recognized as the sole political authority in it’s territory. 
C. Sovereignty means that you are governed indirectly by an empire but you get to keep your 

own, semi-autonomous institutions. 
D. None of the above 

2. The term “coercion” means 
A. Force used by legal authority like the State 
B. State’s efforts to influence a particular matter in accordance with the principles of the 

Constitution 
C. A goal or a principle 
D. An organized political structure 

3. Situations in which there are no easy solutions to problems are called _____ situations. 
A. resolved 
B. unresolved 
C. approval 
D. mobilised 

4. ____________ is a locality which is populated largely by members of a particular community. 
A. Ghetto  
B. Adivasis 
C. Minorities  
D. None of these 
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 5. Which gas has been leaked from UC plant in Bhopal gas tragedy ? 
A. Nitrogen oxide 
B. Methyl-isocyanite 
C. Carbon dioxide 
D. Carbon monooxide 

I. Answer the following questions in short.          [2x2=4] 
1. What do you understand by the term ‘rule of law’. Also include a fictitious example of a 

violation of the rule of law.            (1+1=2) 
2. Discuss the significance of Public Interest Litigation (PIL) in ensuring justice to all. 

 
II. Answer the following questions in detail.         [3x2=6] 
1. “An independent judiciary is necessary for Upholding the law and Enforcing the 

Fundamental Rights”. Elucidate. 
2. Which term is used for Adivasis in official documents? Discuss the importance of forests for 

Adivasis.                  (1+2=3) 
 

III. Answer in detail.             [5] 
What did Rathnam refuse and why? What were the consequences he had to face after his 
refusal?            (2+1+2=5) 

                                           OR 
What are the clauses of the Scheduled Castes and the Scheduled Tribes (Prevention of 
Atrocities) Act, 1989 ?             (2+1+2=5) 

 
IV. Read the given passage carefully and answer the following questions:       [4] 
 

What is a worker’s worth 
The foreign companies come to India for cheap labour. Wages that companies pay to 
workers, say in U.S.A.,are far higher than what they have to pay to workers in 
poorer/developing countries. For lower pay, companies get longer hours of work. 
Additional expenses such as for housing facilities for workers are also fewer. Thus, 
companies can save costs and earn higher profits. 
Cost cutting can also be done by other more dangerous means. Lower working conditions 
including lower safety measures are used as ways of cutting costs. In the UC plant, every 
safety device was malfunctioning or was in short supply. Between 1980 and 1984, the work 
crew for the MIC plant was cut in half from 12 to 6 workers. The period of safety training for 
workers was brought down from 6 months to 15 days. The post of night-shift worker for the 
MIC plant was abolished. 
At West Virginia(U.S.A), computerized warning and monitoring systems were in place, 
whereas the UC plant in Bhopal relied on manual gauges and the human senses to detect gas 
leaks. At the West Virginia plant, emergency evacuation plans were in place, but nonexistent 
in Bhopal. 

 1. Compare the safety standards of UC plant followed in U.S.A. and that of India. ?    [1] 
2. “There are many labours/workers in poorer countries who are ready to work in unsafe 

conditions”.  Why?             [1] 
3. Why do foreign companies want to establish their units in developing countries ?   [2] 
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GEOGRAPHY 

 

I. Choose the correct option:            [1x5=5] 1. The application of latest knowledge and skills in doing or making things is known as A. Patent B. Utility C. Value D. Technology 
 

2. Which one among the following is true? A. Water is not precious and we should not bother about its wasteful use. B. All sources and substances have the equal economic value. C. We should minimise the depletion of natural resources. D.  Non-renewable resources are human made resources. 
 

3. Fill in the blanks : 
Crop Climatic conditions 

i.   ? 
         ----------- 

It requires high temperature, light rainfall, two hundred and ten frost-free days and bright sunshine for its growth. 
              ii.         ? 
                     -----------    

It requires moderate temperature and rainfall during growing season and bright sunshine at the time of harvest. 
 

OPTIONS: 
A. i. Wheat ,    ii. Maize B. i. Cotton ,    ii. Wheat C. i. Rice ,        ii. Coffee D. i. Jute ,         ii. Tea 
 

4. In which year the Ministry of Human Resource Development was established by the Government of India? A. 1955 B. 1965 C. 1975 D. 1985 
 

5. Match the columns and choose the correct option :   

Column  I Column  II 
a. Immigration i. A graphical presentation of the age, sex composition of a population.                  
b. Emigration ii. It is the number of years that an average person can       expect to live. 
c. Life expectancy iii. When a person leaves a country. 
d. Population Pyramid iv. When a person enters a new country. 

 

OPTIONS: 
A. a.-iv,  b.-i,  c.-iii,  d.-ii B. a.-iv,  b.-ii,  c.-i,  d.-iii C. a.-iv,  b.-iii,  c.-i,  d.-ii D. a.-iv,  b.-iii,  c.-ii,  d.-i 
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  II. Answer the following questions in short :       [3x2=6] 1. Distinguish between Subsistence farming and Commercial farming. Write three points of each. 
OR Which crop is also known as the ‘Golden Fibre’? Write climatic conditions  required for its 

growth.            (1+2=3) 
2. Describe any three factors affecting the distribution of population. 
 
 

III. Answer the following questions in detail :                   [5x2=10] 1. How is vegetation useful to us? Explain any five points. 
2. Explain any five measures to reduce the risk of industrial disaster.     OR 

Explain any five favourable locational factors which were responsible for the development 
of the cotton textile industry in Ahmedabad. 

 

IV. Read the given extract and answer the following questions :      [4] A naturally occurring substance that has a definite chemical composition is a mineral. 
Minerals are not evenly distributed over space. They are concentrated in a particular area or 
rock formations. Some minerals are found in areas which are not easily accessible such as the 
Arctic ocean bed and Antarctica.  
Minerals occur in different types of rocks. Some are found in igneous rocks, some in 
metamorphic rocks while others occur in sedimentary rocks. Generally, metallic minerals are 
found in igneous and metamorphic rock formations that form large plateaus. Iron-ore in north 
Sweden, copper and nickel deposits in Ontario, Canada, iron, nickel, chromites and platinum 
in South Africa are examples of minerals found in igneous and metamorphic rocks. 
Sedimentary rock formations of plains and young fold mountains contain non-metallic 
minerals like limestone. Limestone deposits of Caucasus region of France, manganese 
deposits of Georgia and Ukraine and phosphate beds of Algeria are some examples. Mineral 
fuels such as coal and petroleum are also found in the sedimentary strata. 
IV.1 In which rocks metallic minerals are generally found?     [1] 
IV.2 Which country is the largest producer of high grade iron-ore in the world?    [1] 
IV.3 Why do we need to conserve minerals?       [2] 

 

V. Locate and label the following on the Political Map of India:       [1x3=3] A. Salem - Iron and Steel Plant B. Jamshedpur - Iron and Steel Plant C. Surat - Cotton Textile Industry  
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1. Fill in the blanks:                     [1x5=5] 

a. Ethical hacker is also known as………….. 
b. ……………option helps to enhance the contrast of an image. 
c. Data visualization is the representation of….… or …………in the most clear, convenient, 

legitimate& visual formats. 
d. ………. tool is used to draw a straight line. 
e. ……..…is a field which deals with design, creation and simulation of robots. 

 
2. Select the most suitable alternative:        [1x5=5] 

a. To create an Absolute Cell referencing you can use: 
i. $    ii.&    iii. !   iv. @ 
 
b. Which of the following is related with spamming? 
i. Slows down server  
ii. Consumes lots of network bandwidth     
iii. Waste time of recipients  
iv. All of these 

 
c. Which of the following signifies inbuilt ability to learn and improve from experience: 
i.  A.I.   ii. Machine Learning   iii. Deep Learning iv. Printer 
 
d. Screen shot feature in GIMP enables to copy: 
i.   A single window ii. Whole screen  iii. Both(i)and(ii)  iv. Half screen 
 
e. Which of the following is used as a visualization technique? 
i.    Charts    ii. Graphs   iii. Tables   iv. All of the above 
  3. One word Answers:          [1x4=4] 

      
a. Rajat made a project on “New Arrivals in Technology & Science”.  

He wants his name on every page of the document. Which feature of Word Processor can he use for this 
task?     

       b. According to the ‘Rules of Binary Addition’0+1=1+0…?…..      
       c. Name one career option in the field of Data Science. 
       d. ‘Interchange of bits’ is termed as: 
 
4. Compute the Binary Arithmetic:         [2x2=4] 
       a.1010101-0101010   
       b. 001101+101110 
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5. Differentiate between:          [2x2=4] 
      a. Hacking and Ethical Hacking 
      b. Healing Tool and Clone Tool 
 
 
6. Write short notes:           [2x4=8] 

a. Artificial Neural Network   b. Red eye removal  
c. Slide Transition     d. Plagiarism 

 
7. Convert the given decimal number into their equivalent binary number:   [2] 

a. 13 
 
8. Answer the following questions:         [2x7=14] 

a. Describe about ‘Computer Ethics’. 
b. What is Number System? 
c. Define Layers. 
d. Explain the 4V’s of Big Data. 
e. What is Image Editing? Name four Image Editing softwares. 
f. Explain ‘Cyber Bullying’ with the help of an example. 

“OR” Discuss the term’ Data Science’. 
g. Write about the features of A.I. 
 

9. Convert the given hexadecimal number into their equivalent decimal number:  [2] 
a. FF 

 
10.  Short Answer Questions:         [1x2=2] 

a. One example of A.I. in smart assistance: 
b. The keyboard shortcut option to save a file with a new name is: 
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1. Which bamboo eating bear has a baby that may weigh less than an apple? 

a) Alligators  
b) Polar bears  
c) Giant panda 
d) None  

2. Which bird can fly straight up , down and backward? 
a) Pigeon  
b) Hummingbird  
c) Eagle  
d) None  

3. Which animal is known for standing on one leg for long durations? 
a) Flamingo 
b) Sloth  
c) Lemur 
d) None 

4. What is the name of India's first indigenously designed super computer? 
a) Kalki  
b) Pushpaka 
c) Param 
d) All the above 

5. The .......... is a bowed, two stringed Chinese vertical fiddle.  
a) Erhu 
b) Balalaika 
c) Ektara 
d) None 

6. ....... are massive predatory birds having the largest wingspan of around 3m . 
a) Andean condors 
b) Golden eagle 
c) Lappet vulture  
d) Lammergeir 
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7. Who is a semi- humanoid robot that adjust its behaviour based on the moods of the people 
around it? 
a) Pepper 
b) Chitti 
c) Sonny 
d) None 

8. Which company introduced instant colour film in 1963? 
a) Polaroid 
b) Kodak 
c) Silver 
d) fisheye lens 

9.  Who discovered the vaccine for yellow fever? 
a) Jaime Ferran 
b) Max Theiler 
c) John MacLeod 
d) Alexander Fleming 

10.  .......... is a handheld wireless electronic device developed for reading newspapers or any 
written material. 

a) Kindle  
b) Skype  
c) YouTube  
d) Bluetooth 

11. So far, Indians have received ..........  number of Nobel Prizes. 
a) 9  
b) 6  
c) 7  
d) None 

12. Which option is not the right option? 
a) Buying energy-efficient  products 
b) leasing fans,geysers, air conditioners 
c) Replacing regular bulbs with LED 
d) All the above  

13. Which option will help in reducing global warming? 
a) Putting generators 
b) Using inventors 
c) Powering our homes with renewable energy 
d) None 
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14. Which one of the following is not a green house gas? a) Oxygen b) Carbon dioxide c) Methane d) None 
15. Rising ......levels,......  flooding. 

a) Glacier,Snow 
b) Sea, Coast 
c) Coal, Ocean  
d) None of the following 

16. Sending inappropriate content that is distressing. 
a) Phishing 
b) illegal content 
c) Cyber content 
d) Social content 

17. Using social media to intimidate a user and instill fear. 
a) Cyber bullying 
b) Cyber stalking 
c) Phising 
d) None of the following 

18. Using fake email messages to trick users into changing their password. 
a) Phishing  
b) illegal  
c) Scams 
d) Grooming  

19. They are small, round, rocky bodies, like normal planets but smaller in size. 
a) Dwarf planets  
b) Nebulas 
c) Comets  
d) Voids  

20. They are vast  spaces in the universe which contain very few or no galaxies. 
a) Voids 
b) Nebulas 
c) Satellite   
d) Binary stars  

21. It kicks with its three toed feet. 
a) Emu 
b) Ostrich 
c) Falwn 
d) All the above 
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22. It feeds on carcasses.. 
a) Pitohui 
b) Vulture 
c) Falcon 
d) None  
 23. It's feathers contain dangerous levels of poison. 
a) Pitohui 
b) Vulture  
c) Falcon 
d) None  

24. Tick the name of the country Tanzania  belongs to .. 
a) Sana and Aden 
b) Amsterdam 
c) Tbilisi 
d) La Paz 

25. Name the city of the country chile? 
a) Santiago  
b) Aden  
c) Kuala  
d) Kutaisi 

26. Mark the name of the mobile wallet with their developer of yono. 
a) SBI 
b) ICICI  
c) Google  
d) HDFC 

 27. Who is the Supreme Commander of the Indian Armed forces?  
a) The President of India  
b) The Prime Minister  
c) The Governor 
d)  None 

28. Who manages the Indian armed forces? 
a) The MOD of the Government of India  
b) The President 
c) The Prime Minister  
d) None 

29. NML,KJI,HGF,.... 
a) DCB 
b) QPO 
c) EDC 
d) CBA 



5  

30. The UK has hosted the Summer Paralympic Games twice. Can you name the other country 
which has hosted the summer games twice?  
a) USA  
b) Canada  
c) London 
d) None 

31. Full form of MICR code? 
a) Magnetic ink character recognition code  
b) Magnetic ink cordial character relationship  
c) My ink colonial relation  
d) None 

32. He got the prize in Economic sciences for his Experimental approach to allievating global 
poverty. 
a) Har Gobind khorana 
b) Abhijit Banerjee 
c) Amarty Sen 
d) None 

33. The Non-Vegan food item for maple syrup,coconut nectar is..  
a) Cheese  
b) Honey  
c) Cream  
d) All the above 

34. Firm tofu is used as a substitute in .. 
a) cheese  
b) curd 
c) Paneer 
d) None 

35. Who was the honorable chief guest of DPS Ranchi on the Sports day? 
a) Shri Shunglu 
b) Mr.Bachaan 
c) Shri VK Rao 
d) Shri SL Sindhu 

36. Nelson Mandela was awarded the Nobel peace prize in 1993. 
a) True 
b) False 
c) Can't say 
d) None 

37. Which planet has the most Volcanoes?  
a) Mars 
b) Neptune 
c) Venus  
d) None 
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38. How many moons does Jupiter have? 
a) 38 
b) 66  
c) 22  
d) 1  

39. Find the meaning of ............ be the leader taking decisions.  
a) Drop the ball  
b) Call the shots  
c) Hit below 
d) All the above  

40. When you don't understand anything means:- 
a) It's all Greek to me  
b) Hit below  
c) Slow boat  
d) None 

41. Which is the largest city in Nagaland? 
a) Kohima 
b) Dimapur 
c) Phek 
d) None 

42. Which state of the North east has the Keibul Lamjao National park? 
a) Mizoram 
b) Nagaland 
c) Manipur 
d) None of the following 

43. Name the author of this book-The inheritance of loss:- 
a) Ruskin bond  
b) V.S.Napul 
c) Kiran Desai  
d) Vikram Seth 

44. The Rajput ruler Prithviraj Chauhan defeated Muhammad of Ghur in the:- 
a) Second battle of tarain  
b) Battle of Chausa 
c) Battle of Buxar  
d) Battle of Waterloo 

45. Louis Pasteur belongs to which country-  
a) Spain 
b) France  
c) Scotland  
d) India  
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46. Tick the correct spelling:- 
a) Cemetery 
b) Cemetary 
c) Cementary 
d) Cementarye 

 47. Put a right mark in the correct spelling:- 
a) Guarantee 
b) Guarrantee 
c) Guarantea 
d) None 

48. In the word NUMBER is coded as PXQGKY,how would you code the world SERIAL? 
a) UHVNGS 
b) UVHGNS 
c) UGNSVH 
d) None 

49. Solve the analogy question of .. 
Car:Garage :: Aeroplane:?   
a) Hangar  
b) Harbour 
c) Depot  
d) None 

50. Complete the letter series:- 
      ZXV ,FDB ,LJH ,RPN , ? 

a) TRP 
b) LXU 
c) WXV 
d) None 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                   Subject – Health and Physical Education  Time – 1 Hour                                              Maximum Marks- 50 

   

General Instructions  1. The question paper consist of 50 multiple choice questions. 2. All questions are compulsory. 3. All questions carrying one mark (1X50 = 50)  
 

1. What is the radius of centre circle in Basketball ?  (a) 1.80m   (b) 1.90m  (c) 1.70m  (d) 1.60m 
2.  Horse riding is the best exercise for treating which deformity? (a) Knock knee   (b) Bow leg  (c) Flat foot  (d) All of the above 
3. Which of the following deformities is also called as 'S' shape. (a) Kyphosis  (b) Lordosis  (c) Scoliosis  (d) Flat foot  
4. What are the measurements of Basketball Court ? (a) 26m x 14m  (b) 28m x 15m  (c) 27m x 16m  (d) 28m x 13m 
5. Ability to do movements with greater distance with external help is called as:- (a) Active flexibility  (b) Dynamic flexibility  (c) Passive flexibility  (d) Static flexibility 6. Which nation will host the 2026 FIFA World Cup? (a) Abu Dhabi,dubai Dubai  (b) France and Germany  (c) USA, Canada, and Maxico   (d) India, Pakistan and Nepal  
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 7. 'Dunk Shot' is related to which game ? (a) Football  (b) Basketball  (c) Handball  (d) Throw Ball 
8. Dhanurasana is used for curing which of the following deformities?    (a) Scoliosis   (b) Kyphosis   (c) Flat foot   (d) Lordosis  

    9. .............................is the range of movements of joints. In other words, it means the range of motion available in joints.    (a) Co-ordinative   (b) Flexibility  (c) Strength  (d) Speed 
10. In which type of tournament a team once defeated gets eleminated for the    tournament?  (a) League tournament  (b) Knock out tournament  (c) Challenge tournament  (d) Round robin tournament 
11. How does the Game begin in Basketball ?       (a) Passing the ball  (b) Jump ball  (c) Drop the ball  (d) All the above. 
12. Which of the following is not a spinal curvature deformities ? (a) Kyphosis  (b) Lordosis  (c) Scoliosis  (d) Flat foot 
13.  ______ is the ability of muscle or body to get overcome resistance under the condition of fatigue: (a) Endurance   (b) Speed  (c) Stamina  (d) None of the above 
14. There are.................Types of league tournaments (a) 3  (b) 2  (c) 5  (d) 1     



3  

15. Who won the women's under 19 T 20 Cricket World Cup 2023 ? (a) England  (b) India  (c) Australia  (d) Newzealand 
16. What is the weight of the Basketball? (a) 430gm - 470gm  (b) 500gm - 600gm  (c) 550gm - 600gm  (d) 600gm - 650gm 
17. Walking on heels is the best remedy of which deformity ? (a) Bow leg  (b) Flat foot  (c) Knock knee  (d) None of these 
18. In the fixture, which team gets the first bye? (a) The first team of upper half   (b) The last team of lower half        (c) The first team of lower half  (d) The last team of upper half 
19. What is the duration of substitution in Basketball ? (a) 30sec  (b) 35sec  (c) 20sec  (d) 25sec 
20.  In bow leg there is___________________       (a) Wide gap between the legs  (b) Plain foot scale        (c) Knee colliding with each other  (d) Bothe legs curving inwards 
21.  A successful training program is consists of_____________________ (a) Goals  (b) Plan work  (c) Maintain year - round fitness  (d) All of the above 
22. Who invented the Game of Basketball? (a) Dr. James Naismith  (b) Konard kotch  (c) William G. Morgan  (d) None of the above 
23.  Ability to react immediately and accurately to undermined or unexpected singles is  known as :- (a) Orientation ability  (b) Rhythm ability  (c) Balance ability  (d) Simple reaction ability 
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24. Who is the Captain of Indian Women T20 cricket team :-  (a) Bhawna Gupta  (b) Smriti Mandhrna  (c) Harmanpreet Kaur  (d) Mithali Raj 
25.  Explosive strength is the combination of --------  (a) Flexibility and speed    (b) Speed and strength   (c) Endurance and speed   (d) None of these  
26. Who won the Golden Boot in FIFA World Cup 2022 ? (a) Lionel Messi   (b) Kylian Mbappe   (c) Cristiano Ronaldo  (d) Luka Modri 
27. How many officials are there in Basketball ? (a) 3  (b) 5  (c) 4  (d) 6 
28.  FIFA is the global regulatory body of which sports ? (a) Hockey  (b) Cricket  (c) Football  (d) Tennis 
29. One of the principles of sports training is ..................... (a) Continuity   (b) Fitness  (c) Wellness  (d) Above all 
30. Which Indian cricketer scored double centuary in ODI vs Newzealand ? (a) Sachin Tendulkar   (b) Shubman Gill   (c) Hardik Pandya   (d) Rohit Sharma 
31. What is the circumference of the Basketball ? (a) 65cm - 70cm  (b) 55cm - 65cm  (c) 70cm - 75cm  (d) 75cm - 78cm 
32. What is the name of postural deformity caused due to increase in the forward curve at the lumber region? (a) Knock knee  (b) Scoliosis  (c) Lordosis  (d) Bow leg 
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33. What is the height of the board from the ground in Basketball ? (a) 2.75m  (b) 2.85m  (c) 2.90m  (d) 2.95m 
34. In sports training limbering down is done...... (a) Before competition  (b) After competition  (c) During competition  (d) None of the above 

         35. League tournament is also known as............ (a) Knock out (b) Combination (c) Round robin (d) Consolation 
36. The ability to move from one place to another in shortest period of time :  (a) Power   (b) Ability  (c) Speed  (d) Balance 
37. Which state organised mens Hockey World Cup tournament 2023 ? (a) Jharkhand  (b) Punjab  (c) Odisha  (d) Uttar Pradesh 
38. In single knockout tournament how many byes needed to be given if 9 teams are participating (a) 8  (b) 5  (c) 7  (d) 9 39. How many arch are present in the foot of human being? (a) 4   (b) 1  (c) 3  (d) None of the above 
40. What are the main advantage of knock out tournament? (a) It enhances the standard of sports  (b) Less number of officials are needed (c) The tournament finishes in short period of time  (d) All the above 
41. The official  Mascot is of FIFA world cup 2022 at Qatar was :   (a) La’eeb  (b) Perry  (c) Goldic  (d) Kenyo   
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42. Which country has won maximum times world cup in football ?   (a) Brazil   (b) Italy   (c) Germany  (d)USA 
43. Who won the men’s Hockey World Cup 2023 ? (a) Germany  (b) Belgium  (c) Netherland  (d) Australia 
44. The ability to combine the movements of different body parts for performing perfect sports movements........................... (a) Orientation ability  (b) Coupling ability  (c) Balance ability  (d) None of the above 
45. There are.....................Types of tournament (a) 3   (b) 2   (c) 4  (d) 6 
46. Who won the Golden Ball in FIFA world cup 2022?   (a) Kylian Mapped    (b) Cristiano Rolando   (c) Lionel Messi     (d) Robert Lewandowski 
47. The total number of officials for a Football match is _______________________ (a) 4  (b) 5  (c) 6  (d) 3 
48. Who is the captain of Indian Basketball Men’s Team? (a) Vishesh Bhriguvanshi  (b) Vivek Goti  (c) Prashant Singh Rawat (d) None of the above  
49. Flat Foot and Round Shoulder are deformities associated with __________________ (a) Skeletal System  (b) Reproductive System  (c) Respiratory System  (d) Nervous System 
50. Which of the following is not a movement speed: (a) Boxing  (b) Wrestling  (c) Karate  (d) Yoga 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                               Subject – French  Time – 90 Minutes                                        Maximum Marks - 40 

    
Unseen passage  

1. Lisez le texte et répondez aux questions. 
La Toussaint est une fête catholique, en l'honneur de tous les saints du panthéon catholique, et 
non une fête chrétienne. Au VIIe siècle, l'église catholiquefait du Panthéon de Rome une église 
dédiée à Sainte-Marie des martyrs. Ainsi,au culte des divinités romaines se substitue le culte des 
saints catholiques. 
C'est à cette occasion que la fête de la Toussaint est instituée. A l'origine,elle est célébrée en mai. 
On l'a ensuite déplacée au 1er novembre. La Toussaint, c'est la fête des saints et non la fête des 
morts. Celle-ci a lieu le 2 novembre. Cependant, parce que la Toussaint est un jour férié, il est plus 
facilede se rendre au cimetière ce jour-là ! 
1. Répondez:                  [3] 

1) À quelle religion est associée la toussaint. 
2) Pourquoi fête-t-on la fête des morts le 1st novembre? 
3) À l’origine, quand fêtait-on la Toussaint ? 
2. Trouvez dans la texte:              [2] 
a) Deux religions –  
b) Deux adjectif –  
c) Un verbe pronominal –  
d) Deux verbe  

Writing  
1. Écrivez une lettre à votre ami€ en décrivant votre fête préférée. ( 50 Mots)        [5] 

Où 
Décrivez cette image. ( les enfants, fille, garçon, content, étudier,s’amuser)       [5] 
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Grammer  

 
1. Mettez les phrases au passé composé.                              [5] 

1) Ils écrivent un livre. 
2) Juliette regarde un film. 
3) Est-ce que Pierre finit à 16 heures ? 
4) .Je ferme la fenêtre. 
5) Tu lis le roman ? 

 
2. Mettez les phrases au futur proche.       [2.5] 

1) Mon père va au bureau en voiture. 
2) Nous allons au cinéma ce dimanche. 
3) Je préfère la robe noire. 
4) J’achete trois stylos. 
5) Tu lis le journal. 

 
3. Mettez les phrases au futur simple:                                [5] 

1) Tu fais du travail. 
2) Il aime voyager. 
3) Elles font leurs devoirs. 
4) Il ne pleut pas en inde. 
5) Vous aimez la musique jazz. 

 
4. Changez au forme négatif :                                                [5] 

1) Tu es gentil avec elle. 
2) Tu vas dans ta chambre. 
3) Il travaillr beaucoup. 
4) Je mange dans la cantine. 
5) Nous jouons au tennis. 

 
5. Transformez les adjectifs en adverbe :                             [2.5] 

1) Doux –  
2) Vrai –  
3) Fréquent –  
4) Gentil – 
5) Poli –  

6. Completez par conjonctions :                                       [5] 
1) Je n’aime pas nager.j’aime marcher. 
2) Je mange des fruits.c’est bon pour la santé. 
3) Je suis malade.je ne vais pas travailler demain. 
4) Il pleut.Il restent à la maison 
5) Je dois travailler.je n’ai pas envie. 
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Culture and civilization 

1. Répondez aux questions :                    [5] 
1) Nommez deux montagne français. 
2) Que français mange en petit- dejeuner. 
3) Que français mange en dîner. 
4) Quest-ce que la basilique de fourvière. 
5) Écrivez en français : 

a) City –  
b) School – 
c) Office –  

 
 

 



DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                           Subject – German  Time – 90 Mintues                                                                 Maximum Marks- 40 

   

 
1. Liest den Text: 

Es ist August gewesen, der dritte August. Ich habe seit Ende des 
Semesters als Kellner in einer Kneipe schwer gearbeitet. Ich habe 
mir gedacht: Mensch, du brauchst ein bisschen Freizeit, bevor das 
Semester wieder anfängt. Aber was willst du machen? Willst du 
etwas Neues sehen? Du musst dich ausruhen und ausschlafen. 
Dann habe ich beschlossen, nach Griechenland zu fahren, und am 
fünften August bin ich mit dem Zug nach Griechenland gereist. 
Die Reise hat lange gedauert -- etwa 35 Stunden. 
 
Ich habe zuerst Athen besucht -- die Akropolis, das 
Nationalmuseum, den Tempel des Olympischen Zeus. Eines 
Abends habe ich in einem Restaurant in der Plaka gegessen. Da 
habe ich Susanne zum ersten Mal gesehen, aber ich habe sie nicht 
angesprochen. Später hat es mir leidgetan, dass ich das nicht getan 
habe. Aber so spontan sein ... das kann ich nicht. 
Das Wetter in Athen ist aber herrlich gewesen. Heiß -- dreißig Grad 
war es und auch schwül. Jeden Tag hat die Sonne geschienen. Es 
hat keinen Tag geregnet. 
 
Am nächsten Tag bin ich mit dem Schiff auf die Insel Kreta 
gefahren. Ich habe ein billiges Zimmer in einem Hotel gefunden 
und bin sofort zum Strand gelaufen. Wunderschön war der Strand 
-- der Sand war fast weiß und das Wasser so blau -- nee, fast grün -- 
und so klar wie Glas. Der Tag war herrlich -- sonnig und heiß, aber 
auch ein bisschen windig. Ich bin geschwommen, habe gelesen und 
geschlafen ... Als ich aufgewacht bin, habe ich sie gesehen. Dieselbe 
Frau ... die Frau vom Restaurant in Athen. Sie hat mich angestarrt. 
Ich habe sie angelächelt, aber ich habe nicht gewusst, was ich 
weiter machen sollte ... hab’ also nichts getan. 
 
Am Abend bin ich in ein kleines Restaurant in der Nähe vom Hotel 
gegangen. Ich habe draußen gesessen und habe ein Glas Wein 
getrunken. Plötzlich habe ich sie gesehen. Sie ist an meinem Tisch 
vorbeigegangen. Ich habe »Hallo« gesagt und sie zu einem Glas 
Wein eingeladen. Sie hat ja gesagt. Wir haben lange am Tisch 
gesessen und haben über alles Mögliche diskutiert. Dann sind wir 
am Strand spazieren gegangen. Tja, so hat es angefangen. Von da 
an sind wir die ganze Zeit zusammen gewesen. 

 



  
 A. Schreib in richtigefolge: (put these sentences into the correct 

order of what happened and when in the story.) 
a. ______ Der Mann sieht Susanne in einem Restaurant. 
b.     __     Der Mann arbeitet in einer Kneipe. 

      c. _______ Der Mann redet eine lange Zeit mit Susanne. 
      d. _______ Der Mann besucht alle Sehenswürdigkeiten in 
Athen. 
      e._______ Der Mann fährt nach Griechenland. 
      f._______ Der Mann fährt nach Kreta. 
      g._______ Der Mann sieht Susanne aber er spricht sie nicht an. 
      h. ______ Der Mann geht zum Strand. 
 
B. Schreib die Text nochmal in Schönen Handschrift 

1x8=8 
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2. Du bekommst eine Mail von Stefan.  
Liebe Tina, 
Wie geht’s? Meine Schulferien sind zu Ende. Morgen beginnt die 
Schule. Ich fahre mit dem Fahrrad zur Schule. Meine Schule ist 
nicht so weit. Es ist ungefähr 3 Kilometer von meinem Haus und 
ich brauche nur fünfzehn Minuten. Viele Freunde von mir 
kommen auch mit dem Linienbus oder mit der Bahn. Schulbusse 
gibt es vor allem auf dem Land. Mein Freund Ben hat Glück. Er 
wohnt in der nähe der Schule und kann zu Fuβ zur Schule 
kommen. 
Wie gehst du zur Schule? Zu Fuβ, mit dem Fahrrad, mit dem 
Linienbus oder habt ihr auch Schulbusse? Schreib mir bald! 
 
Viele Grüβe 
Max     
Lies die Mail und Antwort die Fragen in 40 Wörter. 

 Wie weit ist deine Schule? 
 Wie lange brauchst du zur Schule? 
 Geht man viel zu Fuβ in deinem Land? 

5 

3. Stell fragen: 
a. _____________________________________? - Nein, du darfst nicht. b. _____________________________________? - Ich habe jeden Tag gebadet. c. _____________________________________? - Er sitzt vor den Fernseher. d. _____________________________________ ? - Nein, ich habe keine Lust. e. _____________________________________ ? - Die hänge in den Kleiderschrank.  

 
 

1x5=5 



  
4. Bau die Sätze vor: 

a. dem Jungen .Rad .gehört .das . 
b. Figur .der .Essen . zu viel .schadet . 
c. Den .Muskeln .hilft .Radfahren . 
d. hat .Lust .Lydia .keine . mehr. 
e. ist .nicht .leicht .wirklich .das . 

1x5=5 

5. SchreibSätzemi t diesenWorten    : 
Ski fahren surfen Schwimmen Rad fahren fernsehen , , ,  , . 
 

1x5=5 

6. Der oder dem? Ergänze: 
 1. Wir treffen wir uns vor ________ Kino. 2. Wir treffen wir uns in ________ Café. 3. Wir treffen wir uns vor ________ Museum. 4. Wir treffen wir uns in ________ MediaMarkt. 5. Wir treffen wir uns vor ________ Buchhandlung. 6. Wir treffen wir uns vor ________ Kirche. 7. Wir treffen wir uns in ________ Schule. 8. Wir treffen wir uns in ________ Park. 

.5x8=4 

7. Was passt zusammen? 
1. Wo liegt die Bank? a. Ja, in der Goethestraβe. 
2. Liegt die City – Hotel vor der 
Post? 

b. Am Rathausplatz. 

3. Gibt es hier eine Pizzeria? c. Neben der Sprachschule. 
4. Wo ist Max? d. Nein, vor der Apotheke. 
5. Treffen wir uns im 
Mediamarkt? 

e. Er sitzt im Park. 

6. Wo ist das Rathaus? f. Nein, im Café.  
  

 

1x6=6 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

                ANNUAL EXAMINATION   (2022-23) 
   

Class - VIII                                                                          Subject – Japanese  
Time – 90 Minutes                                                                 Maximum Marks- 40   

  1. Write the reading of any three of the underlined Kanji characters.    [3] 
1) わたしはインド人です。 
2) 木のうえにとりがいます。 
3) 火にちかづいたら、あぶないよ。 
4) ガンジス川は、とてもおおきな川です。 
5) 日がでているから、きょうはあたたかいですね。 

2. Write the numbers 1-10 in Kanji.         [4] 
OR       Write the days of the week in Japanese (Kanji & Hiragana).    

3. Complete any three sentences by using the hints given in brackets.   [3] 
1) あさはいつも、5じ ______________ 。 (get up) 
2) 8じのバスに  ___________________ 。 (get on) 
3) がっこうには、8じはんに _________ 。 (arrive) 
4) 3じにいえに ____________________ 。 (return) 
5) やすみの日はともだちのいえに _____ 。 (go) 

4. Write the meaning of any three sentences in English.     [3] 
1) つくえの中にほんがあります。 
2) 木の上にとりがいます。 
3) テーブルの下にゴミばこがあります。 
4) バイクの前に車があります。 
5) 本の上にペンがあります。 
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5. Write an essay of a minimum of five sentences on “My city” or “My school” in Japanese 
(Hiragana & Kanji).          [4] 
 6. Translate any four of the following sentences in Japanese.     [4] 
1) There seems to be a bird on the tree. 
2) There seems to be a black car in front of the bike. 
3) There seem to be many people at the party. 
4) This chai looks tasty. 
5) Bullet trains seem to be convenient. 

7. Write the following verbs in ます form, ない form, て form, and た form.   [3] 
1) かく 
2) いく 
3) よむ 

8. Make interrogative sentences by using the following words.    [3] 
1) なん／なに 
2) いつ 
3) いくら  

9. Answer the following questions in Japanese (Hiragana).     [2] 
1) いえをでるまえ、おかあさんになんといいますか？ 
2) ともだちにあやまるとき、なんといいますか？ 

10. Translate any three of the following Japanese sentences into English.   [3] 
1) あたらしいくるまをかったので、こんどのせてあげます。 
2) ここにでんわばんごうをかいてください。 
3) わからないときは、せんせいにきいてみてください。 
4) わたしがつくったケーキをたべてほしいです。 
5) もしわたしがおかねもちだったら、おおきないえをかいます。 

11. Rearrange the following jumbled words to make meaningful sentences.   [3] 
1) おちゃ ／ は ／ おいしいです ／ つめたくても ／ この ／。             
2) わたし ／ は ／ ことができます ／ を ／ とる ／ しゃしん ／。 
3) きょう ／ この ／ は ／ くすり ／ のんでください ／ を ／。 
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 12. Read the following paragraph and answer the following questions in Japanese 
(Hiragana).            [5] 
ひらべえ： たかのさん、らいしゅうきょうとにともだちといっしょに 
   あそびにいくのですが、おすすめのばしょはありますか？ 
たかの：  そうですね…ひらべえと、ひらべえのおともだちはおてらや 
   じんじゃにきょうみがありますか？ 
ひらべえ：  はい、あります。 
たかの：  それなら、きよみずでらはどうでしょうか。きょうとで人気 

のあるかんこうスポットの一つです。きょうとにいくなら、 
 ぜひいってみてください。あと、きんかくじもおすすめです。 

ひらべえ： きんかくじ？おもしろいなまえのおてらですね。 
たかの：  きんかくじは、きんぱくでつつまれているんですよ。 
   ほら。きょねん行ったときにとったしゃしんです。 
ひらべえ： すごくきれいですね。ぼく、ここにいってみたいです。 
たかの：  はい、きょうとえきからバスにのってかんたんにいくことが 
   できますよ。 
ひらべえ： きょうとえきからどれぐらいかかりますか？ 
たかの：  40分ぐらいですかね。 
ひらべえ： わかりました！らいしゅういくのがたのしみになってきました。                                                                                                                             
1) ひらべはともだちとらいしゅうどこに行きますか？ 
2) ひらべえやひらべえのともだちは何にきょうみがあるといいていますか？ 
あてはまるものをえらびましょう。 

1. 日本のアニメ 
2. おてらやじんじゃ 
3. 日本のりょうり 
4. 日本のドラマやおんがく 
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3) さんかくじは、何につつまれたおてらですか。 
1. きんぱく 
2. ぎん 
3. かん 
4. おかし 

 
4) きょうとえきからきんかくじまでバスでどれぐらいかかりますか？ 
5) かいわのないようでただしくないものを一つえらびましょう。 

1. たかのさんは、きんかくじに行ったことがあります。 
2. ひらべえとひらべえのともだちは、らいしゅうおおさかに行きます。 
3. きょうとえきからきんかくじまで、バスで40分ぐらいかかります。 
4. ひらべえとひらべえのともだちはらいしゅうきんかくじに行きます。 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23)    Class - VIII                                                                              Subject – Sanskrit Time – 90 Minutes                                                                 Maximum Marks- 40 
   

[k.M *d* 
 
1- v/kksfyf[kre~ x|ka”ka ifBRok ç”ukuke~ mÙkjkf.k fy[kr %& 
  

 ,dfLeu~ ous rh{.ku[k% uke flag% çfrolfr LeA {kq/kkrZ% ,dnk l% ex̀;kFkZa brLrr% ifjHkzeu~ Hk`”ka 
JkUr% tkr%A lk;adkys ;nk l% dL;fpr~ Ik”kks% ,dka xqgka n`’Voku~ rnk l% çfo”; xqgk;ke~ mikfo”kr~ r= 
fuyh; fu’khnu~ flag% vfpUr;r~ ;r~ vL;k% xqgk;k% okLrO;% Ik”kq% ;nk vUr% vk;kfr rnSo vga ra vkØE; 
gfu’;kfeA bRFka ee HkkstuL; O;oLFkk p Hkfo’;frA 

 
¼d½ ,dinsu mÙkjr %&          ¼1/2x2¾1½ 
¼i½ ,dfLeu~ ous d% çfrolfr Le\   ¼ii½ l% fdeFkZa brLrr% ifjHkzeu~\ 

 
¼[k½ ,dokD;su mÙkjr %&          ¼1x2¾2½ 
¼i½ l% flag% xqgka dnk n’̀Voku~\    ¼ii½ flag% fde~ vfpUr;r~\ 

 
¼x½ mfpra fodYia fpuqr %&          ¼1/2x2¾1½ 
¼i½ ^xqgkâ  v= dk foHkfDr ç;qDrk\ 
¼v½ çFkek  ¼c½ f}rh;k  ¼l½ r̀rh;k   ¼n½ prqFkhZ    

 
¼ii½ ^ekjf;’;kfe^ bfr fØ;kinL; d% vU;% Ik;kZ;% v= ç;qDr%\ 
¼v½ Hkfo’;fr  ¼c½ çfrolfr  ¼l½ gfu’;kfe   ¼n½ vk;kfr 

 
2- v/kksfyf[kre~ i|ka”ka ifBRok ç”ukuke~ mÙkjfk.k fy[kr %& 
 
  vLR;qÙkjL;ka fnf”k nsorkRek fgeky;ks uke uxkf/kjkt%A  
  iwokZijkS rks;fu/kh oxkg~; fLFkr% ìfFkO;k bo ekun.M%AA 
 

¼d½ ,dinsu mÙkjr %&          ¼1/2x2¾1½ 
¼i½ uxkf/kjkt% d% vfLr\    ¼ii½ uxkf/kjkt% dL;ka fnf”k vfLr\ 

 
¼[k½ ,dokD;su mÙkjr %&          ¼1x2¾2½ 
¼i½ fgeky;% ìfFkO;ka dhn”̀k% bo fLFkr% vfLr\  ¼ii½ v= fgeky;% dL; vkRek vfLr\ 

 
¼x½ mfpra fodYia fpuqr %&          ¼1/2x2¾1½ 
¼i½ fnf”k v= dk foHkfDr ç;qDrk\ 
¼v½ iapeh  ¼c½ ‘k’Bh  ¼l½ lIreh   ¼n½ lacks/ku 

 
¼ii½ ^iwokZijkS^ v= fde~ opue~ ç;qDre~\ 
¼v½ ,dopua  ¼c½ f}opua  ¼l½ cgqopua   ¼n½ u dks∙fi 
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[k.M *[k* 
 
 
3- e¥~tw’kkr~ fØ;kinkfu fpRok fjDrinkfu iwj;r %&        ¼1/2x4¾2½ 
 
  ¼e¥~tw’kk & ficsr~] ç.kekfe] on] xk;fUr½ 
 

¼d½ çkr% vga firjkS &&&&&&&&A 
¼[k½ çfrfnua oL=iwra tya &&&&&&A 
¼x½ nsok% xhrdkfu &&&&&&&A 
¼?k½ vu`ra ek &&&&&&&&&A 
 

4- js[kkafdrinkfu vk/k`R; ç”ufuekZ.ka dq:r %&         ¼1x3¾3½ 
 

¼d½ fgeky;% mÙkjL;ka fnf”k vfLrA 
¼[k½ J̀³~xkf.k vkriofUr lfUrA 
¼x½ vU/kdkj% fnokdjkr~ fcHksfrA  
 

5- v/kksfyf[krkuka inkuka foykseinkfu fy[kr %&        ¼1/2x4¾2½ 
  
  inkfu   foykse inkfu  
  

¼d½ ;nk   ¾ &&&&&&&& 
¼[k½ nh?kZ%  ¾ &&&&&&&& 
¼x½ uohu%  ¾ &&&&&&&& 
¼?k½ nwje~  ¾ &&&&&&&& 
  

6- e¥~tw’kkr~ mfprina fpRok fjDrLFkkuiwfrZ dq:r %&        ¼1/2x4¾2½ 
 
  ¼e¥~tw’kk & vr%] iqu%] rkor~] rfgZ½ 
 

¼d½ ;fn ifjJes.k iBfl &&&&&&&&& mÙkh.kZ Hkfo’;flA  
¼[k½ Roa &&&&&&&&& ew’kdks HkoA 
¼x½ ;kor~ Roa u vkxPNfl &&&&&&&&& vga u xfe’;kfeA 
¼?k½ Nk=% TojihfMr% vfLr &&&&&&&&& l% x`gkr~ fo|ky;a u vxPNr~A 
 

7- v/kksfyf[kr & okD;kuka laLdr̀s vuqokna dq:r %&        ¼1x2¾2½ 
 

¼d½ og i<+us ds fy, Ldwy tkrh gSA 
¼[k½ ckfydk [kkdj lksrh gSA 

 
8- ijLija & esyua dq:r %&          ¼1/2x4¾2½ 
 
   ¼d½     ¼[k½ 
 
 ¼d½  jkf=xZfe’;fr    ;kst;rs fgrk; 
 ¼[k½  ikikfUuokj;fr    Hkfo’;fr lqçHkkre~ 
 ¼x½  vn~;So ej.keLrq   xq.kku~ çdVhdjksfr 
 ¼?k½  xqg~;a fuxwgfr    ;qxkUrjs ok 
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9- fuEufyf[krins’kq /kkrwuka ydkja iq:’ka p fy[kr %&        ¼1/2x4¾2½ 
 
   inkfu   ydkj%   iq:’k% 
 
 ¼d½   nnkfr   &&&&&&  &&&&&& 
 ¼[k½  çonfUr   &&&&&  &&&&&&& 
    
10- fuEufyf[kr & okD;kfu y³~ydkjs ifjorZ;r %&       ¼1x2¾2½ 
 

¼d½ l% xzkes çfrolfrA ¾ &&&&&&&&&&& 
¼[k½ vga v/;kid% Hkfo’;kfeA ¾ &&&&&&&&& 

 
11- v/kksfyf[krins’kq /kkrqe~ milxZa p i`Fkd~ dq:r %&        ¼1/2x4¾2½ 
 
   inkfu   /kkrq%   milxZa 
 ¼d½   çonfUr   &&&&&&  &&&&&& 
 ¼[k½  lekpjsr~  &&&&&  &&&&&&& 
 
12- lfU/kfoPNsna dq:r %&           ¼1/2x4¾2½ 
 
 ¼d½ vn~;So ¾ &&&&&&&&& $ &&&&&&&&&& 
 ¼[k½ ;qxkUrjs ¾ &&&&&&&&& $ &&&&&&&&&& 
 
13- ?kVukØekuqlkjs.k okD;kfu fy[kr %&         ¼1/2x6¾3½ 
 
 ¼d½ ,dnk rL; çklkna ,d% eqfu% vkxPNr~A 
 ¼[k½ rka n`’V~ok jktk Hk”̀ka O;yir~A 
 ¼x½ iqjk dfLeafpn~ns”ks ,d% u`i% çfrolfr LeA 
 ¼?k½ jkK% Li”ksZ.k rL; ru;k Lo.kZçfrek vHkor~A 
 ¼³½ rL; uke ;”kikYk% vklhr~A 
 ¼p½ l% u`ik; oje~ v;PNr~ ;r~ ro Li”ksZ.k loZa Lo.kZa Hkfo’;frA 
 
14- okD;kfu “kqn~/kkfu dq:r %&          ¼1/2x2¾1½ 
 
 ¼d½ yksHksu Øks/k% çHkofrA ¾ &&&&&&&&& 
 ¼[k½ jkea jksprs vksnue~A ¾ &&&&&&&&&& 
 
15- /kkrq:Ik ç;ksxa dq:r %&           ¼1/2x2¾1½ 
 
 ¼d½ l% tya  &&&&&&&&&A ¼ik yV̀~ydkjs½ 
 ¼[k½ Roa pyfp=a  &&&&&&&&&&A ¼n”̀k~ y³~ydkjs½ 
 
16- miin foHkfDr ç;ksxa dq:r %&          ¼1/2x4¾2½ 
 
 ¼d½ Jh &&&&&&& ue%A ¼x.ks”k½ 
 ¼[k½ jke% &&&&&&&&& vye~A ¼jko.k½ 
 ¼x½ l%  &&&&&&&&&& fcHksfrA ¼f”k{kd½ 
 ¼?k½ Roa &&&&&&& cfg% xPNflA ¼x`ga½ 
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17- “kCn:ifjp;a nh;rke~ %&           ¼1/2x4¾2½ 
 
    foHkfDr%    opua 

¼d½ firk  &&&&&&&&  &&&&&&&&&& 
 ¼[k½ jktkue~  &&&&&&&&  &&&&&&&&&& 
 
18- /kkrq:Ik ifjp;a nh;rke~ %&          ¼1/2x4¾2½ 
     Ykdkj%   iq:’k% 
 ¼d½ yHkrs  &&&&&&&&&  &&&&&&&&&&&& 
 ¼[k½ eksfn’;ls  &&&&&&&&&& &&&&&&&&&&&& 
 
&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

ANNUAL EXAMINATION   (2022-23) 
  Class - VIII                                                                          Subject – Spanish  Time – 90 Minutes                                                      Maximum Marks- 40 

   

        
 Write answers in complete sentences along with questions. If answered in a word, full marks will 
not be given.  
  1. Comprensión                                                                              [10]        
 

Hola, chica. Acabo de llegar de port Aventura. ¡Fue increible! Estuvimos casi todo el tiempo en 
la zona de México. Lo más guay fue El Diablo. Es un tren como los que iban antes a las minas. 
Tiembla y está lleno de sorpresas. Gritamos y reímos todo el tiempo! La Serpiente Emplumada, 
que da vueltas y vuela, también es muy emocionante. Pero no me atrevi a  subir al Dragon Khan, 
me da un poco de vergüenza decirlo.  Es la única montaña rusa del mundo que tiene ocho 
vueltas.  ¡Si me subo, me muero allí mismo!  
¿Cuándo nos vemos? Un beso, Pierre.  

 
Contesta las preguntas sobre el texto :  
a.  ¿Dónde está Pierre?  b.  ¿En qué zona del parque ha estado más tiempo?  c.  ¿Qué atracción es como un tren antiguo?  d.  ¿Qué hace la Serpiente Emplumada?  e.  ¿Por qué Pierre no subió al Dragón Khan?  

 
2.  Traduce las frases siguientes de inglés a español:                  [5] 

a.  My name is Raquel Pereira.   b.  I work in an office.  c.  I study Spanish and speak three languages.  d.  Yesterday I went to the cinema with my friends.  e.  My parents don't let me drive a car.  
 
3.  Llena los huecos con verbos conjugados en futuro :               [4] 

a.  César …….. (acabar) la secundaria dentro de tres años.  b.  …… (salir, nosotros) de casa a las siete de la tarde.  c.  Mañana ……. (hacer) frío por la mañana.   d.  Te ……. (querer) siempre.  e.   En el próximo sorteo de lotería ……… (tener) suerte y        ……. (decir) adiós al trabajo.    f   En el futuro ……. (Ir, nosotros) de vacaciones a Marte.  g.  El curso que viene ……. (hablar, vosotros) muy bien      español.   h.  El trasatlántico ……. (partir) del puerto el próximo jueves.    
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4.  Haz frases con marcadores temporales de futuro:                 [2] 

a.  El próximo mes -  b.  Mañana -  c.  En el futuro -  d.  Dentro de cincuenta años -   
 
5.  Haz frases con :                                                                      [1] 

a.  Está prohibido -  b.  No se puede -   
 
6.  Completa oraciones condicionales con presente +                 [2] 
    presente/Imperativo :                                                          

a.  ………….., te regalo un boligrafo de Pierre cardin.  b.  Si hace mucho calor, ……. a la playa con mis amigos.   c.  Si no recuerdas los verbos, …… con ejercicios.   d.  Si quieres ganar buenas notas, …………. 
 
7.  Completa oraciones condicionales con presente                   [2] 
    + futuro :    

a.  ………. la casa fácilmente, si pones un anuncio en OLX. b.  Si conduzco despacio, ………………  c.  Si estudias mucho ……… buenas notas.  d.  ………………, veremos muchos animales.   
 
8.  Elige la expresión correcta de también y tampoco              [2] 

a.  He jugado este video juego dos veces -  b.  No nos gustan las novelas de ciencia ficción - c.  El curso pasado estudié español -  d.  No escribí bien los párrafos de inglés -  
 
9.  Completa con los tiempos del verbo :                                     [7] 

a.  Este mes …….. (comer, tú) pescado tres veces.  
b.  Si …….. (tener, tú) tos, te …….. (sentir) mal.  
c.  En 2021 ………. (participar, vosotros) en el partido  
    de fútbol y ……… (ganar, vosotros) una medalla.  
d.  Cuando……. (Ser, nosotros)   
    pequeños, ……… (ir, nosotros)    
    todos los días al parque. 
e.  ¿Qué ……(hacer, tú)? Ahora …… (leer, yo). 
f .  ¿Si …… (encender, tú) la tele, …….. (poder, nosotros) 
       ir al restaurante para comer.  
g.   Ayer, ……. (ir, yo) al cine.    

 
10. Escribe conjugación de los verbos abajos :                                [5] 

Hablar, escribir (futuro simple)  
Estudiar, aprender (Pretérito indefinido)  
Trabajar (Pretérito perfecto)  


